World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

Categorie A

Bastiaannet, Johan #1-3
Bus, Jaap #4-6
Kopylov, Evgeniy #7
Lukyanov, Alligrant #8-9
Mackevicius, Rimas #10
Masiulis, Virmantas #11
Moiseyev, Alex # 12-15
Nych, Anatoly #16-17
. Nyrov, Arsen #18-19

. Trofimenko, Viacheslav #20-21

. Sabater, Michel #22-25

. Shulga, Victor #26-27

. Tiemens, Gerard #28-29

. Tsvetov, Mikhail #30-32




World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

White: 6, 13, 39 (3)

Author’s the solution as is
VP 1 (28a), 34 (21 best), 8 Z (32A), 2 (17), 35

(37), 33 (25B), 3530 (42), 48, 26 (40), 28 (22C),

45, 34 (38), 48 +
A (27), 18 Z; (29bc), 31 (25D), 27 (2933E), 49,
40 (32), 29 (30), 47 (34), 2 (L7FG), 8 (21d), 26
(40), 17 (45), 6 (50H), 4733 (28), 33 (37), 47 +
B (26), 19 (42), 48 (47¢), 1937 (24), 31, 30/35 +
C (44/45), 22, 50 +

D (2933), 34 (24), 42 Z, (29), 32 (39), 48 (44),
39, 28,2 (28), 16 +

E (34), 30, 49 (33), 2 (40), 35 (39), 16 +

F (16), 33 (40J), 3311, 35 +

G (37), 16 (40K), 11 (45), 50 +

H (37), 50 +

J (38), 42/47 (39), 30 (44), 39 +

K (39),49 +

Z 97 (32), 4 (38), 36z (27), 2521 (42), 33 (29) =
Z, 22 (33Y), 29 (44) =

Z, 482 (30), 25 (32), 2 (37), 16 (39), 31 (44), 22
(50), 6 (45) =

Y (317), 35 (33), 28 (37), 29 (41), 15 (46), 1524,

16 +

a (22), 8 (27), and now:

1% win: 33, 42/47 etc. +

2" win: 2 (31), 35 (36ay), 33, 47 (17), 15 (41),
19 +

a; (28), 34/45 (33), 28 (37), 29 (41), 15 (46),
1524, 16 +

b (2732), 33,2 +

c (30), 31 (35), 48 (33), 28 (40), 34, 3 or 39 +
d (22), and now 13 (28), 19 (40), 38, 35 or 26
(40d,), 37,45 +

d; (39), 48 (44dy,), 38,50 +

d, (37), 18 +

e (24), 37, 3328/29 or 42/48 +

z 25 (29/30), 26 (33/34) =

21 6 (25y) =

y (42?), 6-33 (30y1), 14 (47), 15 (36), 4 (47), 15
(36), 41, 3933 +

y1 (29), 15 +

Related endings:

(1) 17, 21, 30, 32/ 27, D26 —

G.L. Gortmans & P.N. Faure, Damwereld in zak
formaat 10-1950

(2) 11, 21, 23, 25, 28/ 8, D31 —

J. Bastiaannet, PWCE-2 Category D

White: 10, 29, 38, 48 (4)
Concourse “Israel-2012”, A19,
2" place, with 77, 5 points

Author’s the solution as is
Concours ISRAEL-2012, Category A, 2™
place, with 77, 5 points

VP 32 Z, 5 (31Aa), 46 (27VP1), 24 Z; (36), 42
(23BC), 3 (41), 14 (46D), 2419 (2732), 38 Z, 5,
49 +

VP1 (36), 42 (27b), 24 > VP +

A (42), 37 (27), 10 (32E), 28 (31), 22, 28 (36F),
2923 (14), 18 (20), 12 (24), 7 (29), 1 (33), 39/50
(41), 22, 46 +

B (32), 3 (41), 37, 14 (38), 9 (23), 14 +

C (31), 2419 (22), 23 (28), 26 (41), 4237, 42
Zy+

D (47), 1420 (33), 15, 16/21 +

E (13), 15 (19G), 4 (24c), 31/36, 27 (39), 49 +
F (13), 2923 (36), 46 (31Fy), 28/32 +

Fi (32), 28 +

G (2731), 23 (29Gy), 47, 2/8 +

G1(42), 47, 2/8 +

Z 57 (33), 24, 37 (27), 5-19z (32Y), 28 (31), 13
(23Y4), 4, 36 (38), 27 (42), 4 (48Y,) =
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Z142? (23), 3 (32), 14 Z5 (3137), 31 (38), 10
(43Y3), 26 (49) =

Z,5? (4637Ys), 31 (38) =

Z3 25 (38), 33 (37), 24 (42Y4) =

7,317 (38) =

Y (13?), 2 (32y), 28 (23), 19 (31), 8 (37), 26

(41), 3 (47), 1914 +

Y, (36?), 4 (23), 19 (41), 10 +

Y, (47?), 15 +

Y3 (42?), 26 +

Y4 (41?), 14 +

Ys (417?), 38, 1914, 49 +

a (27), 46 (2731), 24 (13), 20 (36), and now:
1% win - 42 (23), 2/8 (41), 19 (47), 24 +

2" win - 15 (23), 2/8 (41), 19 (47), 24, 24 +

b (28), and now:

1% win - 3 (41), 37, 20 (37), 23 +

2" win - 12 (41), 37, 26 (38), 48 +

c (1823), 18 (24), 12 etc. +

z 10 (13), 15 (2731y,) =

y (23), 2-13 [or first 2419] (2631), 26 (32), 2419,

27,17 +
y1 (23?), 19 (14), 4 (1319), 36 (23), 47 (28),
38/42 etc. +

Black: 5, 7, 8, 23, 27 (5)
White: 14, 17, 24, 37 (4)

Author’s the solution as is

VP 9 (28), 4 (2732a), 36, 47 (32), 19 (37A), 14
(13), 38 (19Bb), 23 (10DEF,), 33 (14DsF), 47
(20), 15 (41GH), 12, 36 +

A (10), 42 (15), 31 (7-12JJ1c), 1913z (21), 2
(26K), 36 (38), 47 (43), 20, 48 +

B (18), 15/24 (22d), 28 (41), 47 (46), 15, 4 +

D (41), 47 (46), 36 (10), 12, 15 +

D1 (41), 47 (46), 36 (14), 12, 20/25 +

E (11), 6 (41), 33 (10), 1 (14), 28 (46E,), 2318,
5/10 +

E; (47), 33, 5/10 +

F (12), 8 (41), 2 (47), 2319,5 +

F1(12), 8 (41), 2/19* (47), 2319/2 +

*in case of 19 (46): 15 (14), 3 (46), 14, 4 +
G (11),6 (41),33 (47), 1 +

H (12), 8 (41), 2 +

J (20), 1913, 12, 15 (37), 47 +

J1 (38), 1913, 12, 42/47 +

K (27), 18/22 (37), 19 (42), 37, 36 +

a (33), and now:

1 win: 31 (39), 19 (8-12a;a,), 8 (44a3), 2 (),
(12ay), 26 (), (50), 3 (28), 2-13 (10), 4, 14,15 +
a1 (43/44), 1913, 12, 48/49 +

az (11), 6 (44), 1 (50as), 6 (45), 26 +

as (12), 17 (43/44), 12/14 +

a4 (50), 16 (28), 4 (14), 10 (46), 1632 +

as (49), 3113 (44), 2 (28), 1913, 23 +

2" win: 36 (39), 19 (8-12as), 8 (43), 3 (49),
1914 (44), 14-9 or 3731 +

as (11), 6 (44), 1 (50), 6 (45), 17 +

Anyway black cannot make draw with 2...28-33
b (12), 19 (41), 47 (46), 15 or 29 +

c (8-12), 8 (12), 17 (38), 48 (20), 14, 11/12 +

d (23), and now:

case 15:12,4 +

case 20: 12, 25 +

case 24:19 +

z11? (18),2 (20 of 37) =

Black: 12, 17, 25, 31 (4)
White: 9, 13, 23, 28 (4)

VP 4 (36), 10 (21), 9 (17), 15 Z (41 A), 47 (46),
4 (37 B), 4-22 Z1 (48), 11 (27), 16 (27-31), 18
(31-37), 2 (39), 23 (43), 41, 18-13, 48 (30), 25 +
A (30), 9-4 (34 C), 4-10 (27), 10-19 (31), 22, 32
(40), 27, 33 (45), 6 (50), 19-28 (22), 28 (41),

46 +
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B (30), 20 (35 D), 14 (40), 5 (45), 23-19, 6 (50),
22 (11), 26 +

C (35), 4-10 (40), 22, 45 (41), 23 (47), 23-29,
16 +

D (37), 25 (21-26), 31, 28-22, 10 (42), 48 +

Z 9-47 (27), 31, 18 (22), 17-22 (30), 17-12 (34),
7 (39), 1 (43), 28 (32Y) =

Y (31?), 44 (49), 18-12 (7), 36 +

Z1 247 (37-26), 36 (37), 36-18 (37-26), 18-22
(48), 6 (27), 24-30 (34) =

g

Black: 2 45 15 (4)
White: 32, 39, 40, 49 (4)

VP 39-33 (9), 33-28 Z (20), 22 (24), 18 (7), 27
(11), 21 (10), 34 (104), 16 (17), 12, 11 (12), 6
(18), 1 (22), 12 (27), 26 (19), 3 Z1 (13), 26 (23),
43 72 (32), 48 (249), 30 (19), 24 (30), 38, 25 (33
A), 14 (29), 20 (34), 38 (40), 33 (45), 50 +

A (28), 14 (34), 32 (40), 28 (45), 50 +

Z 277 (20), 28 (13), 282 (24), 17 (29), 11 (33),
43 (18), 6 (7), 1 (39), 34 (48) =

Z143? (23), 42 (31), 3 (36), 14 (29), 23, 38
(47) =

Z2 427 (19), 15 (31), 10 (36), 43 (29, 41) =

Author’s the solution as is

1. 39-33 4-9 2. TFS 1. 2. 33-28 15-20 3. 28-22
20-24 4. 22-18 2-7 5. 32-27 7-11 6. 27-21 5-10
7.40-34 10-14 8. 21-16 11-17 9. 18-12 17x8 10.
16-11 8-12 11. 11-6 12-18 12. 6-1 18-22 13. 1-
12 22-27 14. 12-26 14-19 TFS 2. 15. 26-3 9-13
16. 3-26 19-23. TFS 3. 17. 49-43 27-32 18. 26-
48 24-29 19. 34-30 13-19 20. 30-24 19x30 21.
43-38 32x43 22. 48x25 29-33 23. 25-14 23-29
24. 14-20 29-34 25. 20x38 34-40 26. 38-33 40-
45 27.33-50 *

Thematic False Solution 1

2. 32-27? (4-9), 3. 33-28 (9-13), 4. 28-22 (20-
24), 5. 22-17 (24-29), 6. 17-11 (29-33), 7. 49-43
(13-18), 8. 11-6 (2-7), 9. 6-1 (33-39), 10. 1 x 34
(25x48) =

Thematic False Solution 2

After Move 14. (14-19) - 49-43? (19-23), 26-42
(27-31), 42 x 3 (31-36), 3-14 (23-29), 34 x 23
(36-41), 43-38 (41-47) =

Thematic False Solution 3

After Move 16. (19-23)

- 26-42? (13-19), 42 x 15 (27-31), 15-10 (31-36),
49-43 (23-29, 36-41), 14-9 (41-47) =

e
L 7

"
//’///

Black: 2, 4, 5, 24 (4)
White: 31, 32, 33, 44 (4)

VP 33-28 (29), 26 Z 1 (9), 22 (13), 17 (7), 21
(19), 16 (10), 12 Z (18), 11 (24), 7 (34), 7-2
(29), 28 (22), 17 (33), 2-16 (39), 33 (40), 49
(45), 16 (50), 11 (28), 6 (11), 5 +

Z 31-272 (9), 28-22 (13), 17 (19 Y), 11 (33), 6
(23), 1 (28, 38), 39 (42) =

Y (72), 21 (19), 16 (10), 12, 11 (24), 7 (34), 2
etc. as VP +

Z 17-117 (12), 6 (34), 11 (24), 28 (14), 1 (40), 3
(49) =

Author’s the solution as is

33-28 (24-29), 31-26 TSF 1 (4-9), 28-22 (9-13),
22-17 (2-7), 26-21 (13-19), 21-16 (5-10), 17-12
TFS 2 (7 x 18), 16-11 (19-24), 11-7 (29-34), 7-2
(24-29), 32-28 (18-22), 28 x 17 (29-33), 2-16
(33-39), 44 x 33 (34-40), 16-49 (40-45), 49-16
(45-50), 16-11 (50 x 28), 11-6 (28 x 11), 6 x 5
w +

Thematic False Solution 1:

31-27? (4-9), 28-22 (9-13), 22-17 (13-19 Y), 17-
11 (29-33), 11-6 (19-23), 6-1 (23-28), 32 x 23
(33-38), 44-39 (38-42) =
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Y (2-7?), 27-21 (13-19), 21-16 (5-10), 17-12,
16-11 (19-24), 11-7 (29-34), 7-2 etc. as main
variant

Thematic False Solution 2

17-11? (7-12), 11-6 (29-34), 16-11 (19-24), 32-
28 (10-14), 6-1 (34-40), 1 x 3 (40 x 49) =

Black: 6, 8, 11, 16 (4)
White: 18, 22, 26, 36 (4)

VP 31 (17, 17), 27 (22), 12 (31A), 3 (37), 14
(42), 37,37 +
A (17), 18 (16-21), 12 +

Black: 3,5, 6, 34 (4)
White: 7, 12 (2)

Author’s the solution as is

VP 1 (40ABC), 8, 45 +

A (9), 8(39D), 2 (11EF), 16 (44), 40 (35), 7 +
B (39), 8 +

C (8),39 (17 (43),39 +

D (13), 40-45 (2), 23 (7), 1 +

E (44), 13 (18),49 +

F (43), 13 (18), 48 +

A-9

Black: 12, 18, 19, 24, 27 (5)
White: 9 (1)

Author’s the solution as is

VP 3 (29ABCD), 22 +

A (19-23), 30/35 +

B (18-23), 20/15 +

C (18-22), 15 +

D (30), 25 (24), Z 9 (23), 13 (28E), 30/35 (32),
24 (37), 47 +

E (24-29), 9-4 bnoun (34F), 14 (28G), 32
(39H), 49 +

F (33), 14 (291), 20 (34), 38 (39K), 49 +

G (40), 28 (50 +

H (40), 28, 50 +

1(28), 32,49 +

K (40), 28, 50 +

Z 39? (23Y), 11 (30), 2 (34/35) =

Y (29), 25 (32), 9 (23), 14 (29), 20 (34), 38 (39
Y1), 49 +

Y1 (40), 33,50 +

Black: 16, 22, 28, 32 (4)
White: 7, 8 (2)
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Author’s the solution as is

MIF / MU® munmdTions! 2016-08-26
http://minietiud.forum2x2.ru/t458-
topic#52841

VP 1 (33ABC), 2 (27VP1), 11, 42 (31), 26 (38),

48 +

VP1 (338), 2-7 (27), 11, 42 (31), 26 (38), 48 +
A (27), 3 (31), 17 (327), 33 (36A1), 11, 46 +
Al (41), 11, 47 +

B (21), 2 (26), 19 (33D), 46/41 Z (38), 29 (43),

38 +
C (38), 2 (33E), 11, 43 +

D (31), 5/10 (36), 1-23 +

E (32), 2-7 (42/43F), 11, 47/49 +

F (28), 11,42 +

Z 377 (39Y), 6 (31) =

Y (387), 34 (28), 23/5 (42), 37, 23 +

Black: 14, 21, 30 (3)
White: 8, 12 (2)
Concourse “Israel-2012”, C02,
6" place, 53,66 points.

Author’s the solution as is
Contest “Israel-2012” C02
VP 7 (26 A, B,C),Z1(31), 3(36), 48 (41), 37,
29 (37), 47 +
A (27),1(34), 40 (32), 49 (37), 32,3 (32 D), 20
(37), 47 +
B (34), 1 (39), 2 (44), 19, 16 +
C (35), 1 (27), 3 (32), 20 (37), 47 +
D (20), 25 (32), 20 (37), 47 +
Z 3 (35), 20 (40), 1 (44), 33 (49) =

VP 1 (22 A, B), 43 (28), 39,48 (20 C), 43 (24
D), 25 Z (32 E), 14 (38), 139 (43 F), 5, 48 +

A (20), 43 (24), 39), 48 (29), 25 (21 A1), 13-9,
26 (33), 21 (39), 49 +

Al (33),13-9 Z1 21 (39), 49 +

B (21), 43 (27), 39, 48 (32), 42 (20), 15 (37),
47 +

C (33), 43 (20), 21 (25 G), 43 (30 C1), 25 (38),
48 +

C1(39),34 +

D (25), 21 (30), 13-8, 35 (32 H), 24 (37), 47 +
E (29), 14 (34), 32 (40 1), 28 (45), 50 +

F (8), 4 (42/43), 19, 48/49 +

G (39), 13-8, 43/48 +

H (33), 30 (38), 48 +

1(39),49 +

Z49? (30Y, Y1), 43 (35), 49 (33), 44 (38) =
Z143? (22), 16 (9), 4 (39), 27 (44), 11/22 (50) =
Y (33),43 (29 Y2), 25 (38), 8, 3 (18), 9 (23), 14
(33),43 +

Y1 (29), 40 (293), 1 (9 Y3), 4 (38), 23, 10 (24),
15+

Y2 (30), 25 (38), 48 +

Y3 (8), 2 (32), 34 (37/38), 24 +


http://minietiud.forum2x2.ru/t458-topic#52841
http://minietiud.forum2x2.ru/t458-topic#52841
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#A-13

:@E

Black: 3, 13, 16, 19, 28, 29, 37 (7)
White: 7, 10, 12 (3)

VP 4 (24 A), 48 (30 a), 25 (9), 3 (34 B), 2 (39
CD), 25 (44), 39, 127 (32), 1 (328 EF), 27
(42/43), 11, 47/48 +

A (9), 1 (283), 8, 42 (23 G), 6 (28), 37 (7), 34/45
(38), 1 (42), 11, 47 +

B (293), 2 (38), 9 (32 H), 27 (42/43 1), 11,
47/49 +

C (32), 9 (40), 11, 35 +

D (40), 9 (44/45 J), 11, 50 +

E (338), 11, 42 +

F (37/39), 11 +

G (24), 34 (29), 7 +

H (33), 11, 43 +

I (21), 16 (37), 41/46 (43), 3 (48), 37 +

J(21), 22, 16 +

a (32), 2 (38), 30 (21), 30-39 (26), 30 (33), 30-
34 +

Black: 9, 19, 21, 26, 29, 34 (6)
White: 8, 10, 32 (3)

VP 3 (13), 27, 4 (40 A), 35 (34), 8 (31 B), 24 (39
CDE), 25 (44 F), 39, 26 +

A (31), 25 (37 G), 3-20 (24), 15 (41 H), 30, 36,
22,50 +

B (39), 17 (43), 21, 49 +

C (40), 17 (45), 50 (37 (47)

D (37 (29), 14 +

E (36), 14 (40 1), 33 (45), 50 +

F (36), 48, 37 +

G (36), 8 (34 J), 48, 37, 20 (37), 47 +

H (37), 30, 47, 33, 50 +

1 (39), 33 +

J (24), 30/35 (41 K), 24, 46 +

K (34), 48, 37, 20/24 (37), 47 +

#A-15

Black: 19, 20, 31 (3)
White: 12, 30, 39, 50 (4)
Concourse “Israel-2012”, A15,
6" place, 61 points.

Author’s the solution as is
YuacrBoBana B MK «M3panasb 2012»
VP 8 (36), 3 (41 A), 25 (23 BC), 3 (47), 26 (36),
24 (9 D), 48 (27), 37 (38), 19 (20), 24, 39 +
A (25), 24, 14 (34), 30, 44 +
B (47), 20, 24, 39 +
C (46), 3 (24),19 (5), 14,39 +
D (47), 12, 29, 39 +
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Black: K33, 45 (2)
White: 11, 16, 22, 44 (4)

VP 6 (11 A), 17 (50), 16-11 (39), 6, 17 +
A (50), 11, 22 (50), 17, 7 +

N\

_5 % % zz-'_.- Er
% % %

-

o
o
(@}

\

(@“
&

Black: K38, 16, 38 37,43 (5)
White: 8, 15, 21, 24 (4)

VP 3 (20A), 31 Z (16:27), 13 (41), 19 (47), 24,

24 +
A (27), 25 Z1 30 (41), 19 (47), 24, 24 +

Z 26,37 (31, 41), 42 (46) =
Z1 26, 31,10 (32), 5 (38), 37 (43), 48 (49) =
Legality 26-21 (27-38)

- TH %, %, %
= Vs, “ “ =
NN,
7 7 7 7 %
Black: 8, 22, 23, 27, 29 (5)
White: 7, 14 (2)
Contest ,,Vilnius - 2017¢ B09,
7th place, 43,75 points
(variation; replacement K7 - piece 7)

Author’s the solution as is

VP 2 (12), 9 (228 A), 3 (282), 26 (34), 7 (29), 17
(38 B), 16 (32), 28, 25 (33), 14 (29), 20 (34), 38
(39C), 49 +

A (18), 3 (31), 19, 26 (28), 3 (32D), 9 (23), 20
(28 E), 42 +

B (31), 39, 26 (38), 48 +

C (40), 33,50 +

D (33), 9 (22), 27 (39), 49 +

E (37),14 +

Black 22 25 (2)
White: 13, 14, 19 (3)

VP 138 (27), 10 (31 A), 5 (37 B), 3 (30 C), 20
(35), 47 (40), 41, 14, 45 +

A (32), 3 (38), 5 (42/43), 20 +

B (30), 13 (34), 2 (39), 28 (43), 44 (49 B1), 40,
36 +
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B1 (48), 39, 36 +
C (41/42), 20 +

Black: 5, 21, 31, 36 (4)
White: 7, 47 (2)

VP 2 (10AB), 16 (26C), 32 (15), 14 (20), 25
(37), 14 (36-41), 36 (42), 37, 27 +

A (37), 19 (36-41), 36 (42), 37, 16 +

B (27), 19 +

C (15), 32 (20), 38 (37), 15 (42D), 38, 10 +
D (37-41), 10, 5 +

#A-21

Black: 5, 29, 33, 36 (4)

White: 42, 14, 8 (3)

VP 3 (38AB), 24 (41), 3-9 (10C), 5 (47), 9-20
(36), 41, 15 +

A (41), 38, 10, 36 +

B (39), 10, 44/50, 37, 33 (37), 47 +
Cc@4n,3+

#A-22

Black: 5, 10, 12, 19, 25 (5)
White: 22, 26, 40, 43 (4)

8-3 (10-14 B), 20 (5-10 VP1), 20-3 (10-14 B1),

20 (45-50), 20-15 +
VP1 (50), 15 +

A (10-14), 34, 2 +

B (50), 19 +

B1 (50), 19 +

Z 172, 17 (30), 34 (34) =

Black: 8, 9, 13, 28 (4)
White: 26, 36, 38, 39 (4)

Author’s the solution as is

VP 38-33 (28-32), 36-31 (13-18), 31-27, 17 (9-
13 A), 33-29 (13-19), 17-11 (19-23), 29-24 (18-
22), 11-7 (22-27), 7-2 (8-12), 2-16 (27-31), 16-
32 (23-28), 7 (31-37), 24-19 (37-41 B), 39-33 +
A (8-13), 17-11 (18-22), 11-7 (22-27), 7-2 (27-
31), 19 (9-13), 8 (31-37), 8-26 (37-41), 26-37,
33-28, 39-33 +

B (37-42), 7-2 +
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#A-24

& ﬁyﬁ% /

Black: 8, 17, 18, 28 (4)
White: 19, 31, 34, 39 (4)

Author’s the solution as is

VP 19-14 Z1 (18-22), 14-10 Z2 Z3 (28-33,
22:33), 34-29, 10-5 (17-22 A), 5-23 (24-30), 23-
7 (30-35), 7-23 (8-13), 23-7 (22-28), 7-11 (28-
32), 11-16 (32-37, 35-40), 16-11 (40-45), 11-50
(13-18), 42-38 (18-22), 6 (45-50), 38-33 +

A (24-29), 5-28 (17-21), 28-11 (29-34), 11-16
(21-26), 16-2 +

Z1 297 28-32), 39-33 (18-22), 14 (21), 10 (28,
38) =

72 29? (32), 23 (21), 10 (38), 5 (22-27, 27, 42) =
Z3 9?7 (21), 26 (22-27, 13, 28-32), 13 (37), 9
(32), 4 (42) =

/,,”,
///

Black: 4, 5, 13, 18 (4)
White: 28, 29, 38, 40 (4)

Author’s the solution as is
VP 29-24 (4-9 a, b), 38-32 (9-14), 32-27 (14-
19), 40-35, 24 (5-10), 27-21 (10-14), 21-16 (14-

10

19), 16-11, 11-7 (13-19), 7-2 (18-22 A, 33), 35-
30 (33-38), 30-48 +

A (18-23, 32), 35-24 (32-27), 24-47 +

a, b (4-10 ou [or/unu] 5-10), 38-32... +

#A-26

_

o
"é?-wz/

Black: 19, 24, 30, 35, 45 (5)
White: 10, 11, 44, 50 (4)
Concourse “Israel-2012”, A21,
10" place, 29 points.

Author’s the solution as is

Kounkypc «3panab-2012»
VP 5 (34A), 40, 7 (29B), 2 (33), 16 (34-40), 39,
39 (45), 11 (50), 6 +
A (40), 35 (34, 34), 7 (39), 2 (30, 43), 44 (48),
39 +
B (34-40), 1, 44, 45 +

#A-27
//@}//
= _
/////
////;@//%
/%@fw///
//;59/57///
//;iéy/f//
5
/////
.

Black: 3, 9, 28, 33, 36, 37 (6)
White: 6, 8, 19, 22 (4)
Championship of Belarus 2016,
endgames, position#11, 5,4 points [on

al0-points scale]

Author’s the solution as is
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18-ii Uemnuonat Pb no mameuHnoii
KoMmo3unuu, 2016r
VP 1 (17A), 13 (12), 26, 23 +
A (12), 31, 13 (14 BC), 33 (20), 29 (25), 24 +
B (22), 4 (33), 27 (39), 49 +

C (23), 4 (33D), 10 (29), 15 (34), 38 (40 E), 33,

50 +

D (32), 15 (28 F), 42 +
E (39), 49 +

F (37),10 +

Black: 4, 6, 14, 32 (4)
White: 9, 13, 21, 20 (4)

Author’s the solution as is
Published in ‘De Problemist’,
einDsPel, nr, 498, April 2014.

VP 3, 16 (11), 7 (10), 12 Z (38AB), 2 (14CDE),
34 Z1 Z2 (19F), 24 (30G), 35 (42), 24 (48H),
350 (37), 42, 25, 34 +

A (37), 2 (14K), 29 (19LM), 24 (41N), 249 (46),
23 (30), 193, 35 +

B (30), 2 (37P), 3 (35RST), 14, 41/46 (40), 28
(45), 50 +

C (42), 29 (48), 34,5 +

D (43), 34 (49), 40,5 +

E (30), 29 (43), 24, 48 +

F (30), 3 (43), 12/17 (48F1), 34/39 +

F1 (49), 40/44 +

G (42), 349 Z3 (47G1), 249 +

G1 (48), 34 +

H (47), 349 (41/36), 23/18, 24 +

K (41), 29 (46), 23,5 +

L (41), 47 (46), 41 +

M (30), 24, 41/46 +

N (30), 35 (41), and now: 19 (47), 1924 (41/36),
23/18, 24 +

category

11

or 0224 (46), 23, 24 +
P (35), 26 (40), 11 (38), 48 (45), 50 (14), 8 +
R (34), 14 +
S (15), 14 (42), 10,9, 47 +
T (41T1), 14,46 +
T1(42), 14, 47 +
FST:
Z 267 (38), 48 (30) =
Z19,1? (30Y), 35 (8Y1), 2 (42/43) =
Z2 297 (43), 34 (30), 3 (48/49) =
Z319? (30), 25 (47) =
JIT:
Y (43?), 8,48 +
Y1 (42/43?), 8, 47/48 +

Black: 9, 21, 24, 28 (4)
White: 15, 18, 42, 49 (4)

Author’s the solution as is

Unpublished
VP 13 271 10 (27VP1Aa), 4 (22), 43 Z2 Z3 Z4
Z5 (30B), 10 (33), 15 (31), 38 (34CD), 16
(40Eb) 11 (27), 37, 38, 35 (32), 24 (37), 47 +
VP1 (22), 4 (217), and further as VP;
A (30), 4 (23), 10 (27F), 38 (34/35), 44 (31),
32+
B (29), 10 (283), 15 (32c), 37, 38 +
C (36), 32 Z6 (35), 23 (41), 46 (40), 39 (45), 38
(27), 41 (31G), 46 (50HK), 382 (41), 26 +
D (28), 39 (36), 37 (35), 34 +
E (36), 39, 49 (41), 37 +
F (26), 37 (34/35), 44 +
G (50), 47 +
H (36), 382/393 (50de), 393/382 +
K (37), 23 (50), 383 (45), 1 (50), 45 +
(repetitive solution)
a (26), 4 (23), 10 (31), 38 (37), 33, 41/46 +
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b (28), 39, 49 +
c (31), 39,50 (36), 6/17 (41), 37 +
d after 382: (41), 37 (50), 46 +
e after 393: (41), 28 (50), 6 +
FST:
Z 10?7 (14, 32), 38 Z7 38 (27), 13 (31), 9 (36), 4
(41),10 (47) =
Z1127?(32), 7 Z8 Z9 (26), 38, 38 (31Y), 10
(14), 30 (36), 1 (41), 23 (47) =
Z2 107 (33), 15 (38) =
Z3 157 (30), 10 (33), 28 (38), 33 (31), 17 (37) =
Z4 377 (29/30), 9 (34), 44 (31Y1), 36 (33), 27
(339), 33 (40) =
Z5 387 (29), 9 (34), 44 (272), 18 (282), 20 (39),
33(37) =
76 16? (41), 37, 38 (34), 16 (40), 7 (45Y2) =
Z713(26), 8 (37Y337) =
Z88(30),3(37) =
Z9 10 (14), 30 (26), 8 Z10 (37, 37) =
Z10 38, 38 (31), 8 (36), 3 (41), 14 (47) =
JIT:
Y (30?), 2 (35y), 7 (31yl1), 10 (14), 19 (36/37),
23 (40), 45 (41), 7 (47y2), 2 +
Y1 (39, 39),32 +
Y2 (44?), 39, 16 (39Y4), 11 (43/44Y5), 48/50 +
Y3 (31?), 2/24 (327), 2412, 43 (19Y6), 24 (37),
47 +
Y4 (28), 43 +
Y5 (27), 44/50 (32), 33 (37), 47 +
Y6 (8), 36 +
y (31), 35 (36), 19 (13), 2/8 (41), 19 +
yl: (14), 18 +
y2 (46), 23 +

Black: 8, 10, 14, 20 (4)
White: 17, 28, 29 (3)

12

Concourse “Israel-2012”, A03, 1% place, 84
points.

Author’s the solution as is

H3pauns — 2012, 1 mecmo

VP 11 (12 A), 6 (19 B), 283, 1 (24 CD), 5, 32
(39), 49 +

A (19), 293 (194), 19, 7 (14), 1 ZZ1 (25), 22
(12), 20, 17/18 +

B (17),1(21),18 (19 E), 31 Z2 (15 FG), 26
(23), 25 (32), 48 (38), 24 +

C (17),6 (21 H),33 (27 1),38(31), 24,36 +
D (33),5(24), 23 +

E (15), 283 (25), 24 (140), 9/4, 16 +

F (25), 26 (27), 48 (15), 22, 34 (22 JK), 39 (27),
23 +

G (26), 37 (25), 283, 5 (30), 24 +

H (22), 23 +

1 (15), 38 (26 L), 42 (25), 24 +

J (30), 25 (24), 20 (24), 9 (23), 13 (249 M), 9/4
(33), 14 (29), 20 (34), 38 (39 N), 49 +

K (20), 40 (30 OP), 24 +

L (24), 20 +

M (28), 30/35 (32), 24 (37), 47 +

N (40), 33 (45), 50 +

0 (22), 44 (204), 20 +

P (193), 45 +

Z 22 (25),7 (12, 14) =

71227 (12, 3) =

72367 (25 YY1) =

Y (267), 41 (15), 283, 25 (31), 48 (36), 37 +
Y1 (14?), 282 (25), 17, 27 (20 Y2), 21 (18), 27
(193), 4, 15 +

Y2 (177), 49/43 (22), 44 (27), 23 +
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#A-32

Black: 5, 8, 11, 27, 33, 39 (6) Black: 23, 30, 35 (3)
White: 9, 14, 24 (3) White: 17, 43, 44 (3)
Concourse “Israel-2012”, A12,
3" place, 74,66 points Author’s the solution as is

Author’s the solution as is MiF/Mu® 27-04-2016

VP12 (28 A), 8 (33 B), 3 (34), 20 (339), 33
H3pauns — 2012 (3 mecmo). (350), 9 (44), 29, 39, 14 (29 C), 20 (34), 38
VP 3 (44 AB), 40 (39 C), 19 (16 DEF), 7 Z (10 (39D), 49 +

GG1),5(43),29 (21), 42 (48 VP1), 194, 16 + A (34),7 (340 E), 1, 42/47, 33 (45), 50 +
VP1 (49), 38, 16 + B (32),3Z (37 F), 14 (42), 38, 25 +

A (13), 19, 10, 30 (38), 48 + C (28), 32 (39), 49 +

B (16), 34/30/25 (38), 48 (21), 9 (26), 4 (10), 15 D (40), 33 (45), 50 +

(31), 26 (43), 48 (49), 43 + E (28), 1 (32), 40/45 (37), 23 (42), 38,34 Z1
C (38), 10, 19, 43/49 + (38), 48 +

D (17), 7 (10), 5 (43), 12 Z1, 13, 49 + F (34), 20 (340), 20-38, 16 +

E (43), 10, 49 + Z22?(37Y),19(42), 38, 40, 49 (39) =

F (10, 43),29 (48 F1),42,6 + Z1 327 (39), 33 (40),29 (44 Y1) =

F1(49), 38,6 + Y (34?), 24 (340), 248, 16 +

G (21), 10,16 + Y1 (457?), 28 (50), 6 (45), 1 +

G1 (44), 10, 49 +

Z 12 (10, 21), 29 (27 Y), 42 (32 Y1 Y1.1) =
71297 (22), 194 (27 Y2) =

Y (267), 42 (44), 33 +

Y1 (44?), 33 (49), 38 +

V1.1 (437), 48 (49), 43 +

Y2 (28?), 23, 49 +
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Category B
Bastiaannet, Johan #1-4
Bus, Jaap # 5-7
Kopylov, Evgeniy # 8-11
. Lukyanov, Alligrant # 12-15
. Mackeviéius, Rimas #16-19
. Masiulis, Virmantas #20-23
. Moiseyev, Alex # 24-27
Nych, Anatoly #28-31
. Nyrov, Arsen #32-35
. gioiinys, Jonas #36-39
. Trofimenko, Viacheslav #40-43
. Sabater, Michel #44-47
. Shulga, Victor #48-51
. Tiemens, Gerard #52-55
. Tsvetov, Mikhail #56-58
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White: K20, K41, 50 (3)

Author’s the solution as is

VP 32 (23AB;abc), 2 (39C), 42 (40By), 35
(3944), 39 (45), 15 (28D), 38 M. Lepsi¢ 2014:
(11E), 3524 (33FG), 29 (50), 15, 6 +

A (22), 2 (27B), 19 (40Hd), 35 Z (45), 49
(39ef), 16 (11J), 7 (439), 38, 29 (37), 47 +

B (39), 42 (43M), 48 (49), 44, 4830, 17 +

B1 (12), 8 (39), 42 (43), 48 (49), 44, 4830 +
B, (43), 48 (49), 44, 4830, 44 +

B3 (39), 42 (43), 48 (49), 44, 4830 +

C (29), 15 (34B3hj), 16 (3339), 42 (3440K),
48 (3944), 39 (45), 42 (50L), 26 (28), 17, 7
(11), 16 (40), 11 (45), 50 +

D (50), 3524 +

E (32), 16 (50), 44 (45), 50 (23), 7, 45 (11),
3934, 16 +

F (17), 43/49 (22NO), 24-33 A. Konkov 1981:
(27), 36 (50), 43/4927 +

G (16), 47 (32P), 2433 (37), 6 (21), 3933
(26/27), 3328 (31), 36 (42), 27 (47/48), 38/43,
50 +

H (31), 28, 26 (28), 37 (33), 42 (39), 48 (44),
39 (40), 34,39 +

J (44), 39 (50), 3 (28), 17, 2/7 +

K (3540), 49 (11Q), 35 (43), 48 (49K), 25/30
(32), 43,5044, 6 +

L (11), 7 (50), 4233 (40m), 45 +

M (40), 35 (3944), 39 (45), 49 (27R), 16 (50),
26 (28), 17, 2/7 +

N (33), 47 (50), 43/4938 +

0O (21), 16 (32), 49 (50), 2433 (45), 6 (23), 40,
1(50), 6 +

P (21), 24-38 (32ST), 16 (50), 1638 +

Q (3944), 30 (45), 40 +

R (50), 26, 27 +

15

S (26), A. Konkov 1981: 36 (33S;), 28 (50),
3827 +

S1 (32), 16 (50), 1627 +

T (27), 16 A. Konkov 1981: (33), 28 (50), 33
(45), 50 (29), 7, 45 (6), 50 +

Z 327 (43), 35 (38) =

a (42/43), 47/49, 1/4/13 +

b (31), 43 (36), 47 (22), 32 +

c (7-11), 45 +

d (11), 32 (40), 45 (39), 42/47 (43), 38, 34
(37), 47 +

e (32), 4944 (11), 41/46 (43), 38, 6 +

f (31), 36 (39), 38 (44), 39 (50), 3647/3827 +
g (44), 39 (50), 2033 (45), 1 +

h (40), 35 (45h;), 30 (11hy), 48 (17), 20
(22h3), 2025 (27), and now p.e. 26 (32),
2648 +

h; (42), 11, 47 +

h, (42), 3024, 47 +

h; (21), nicest win: 26 (42), 40, 47 (39), 38 +
j (42/43), 2-24, 47/49 +

k (39), 49 +

m (45), 1 (3540), 33-6 +

Closely related endings:

(1) 6, 22, 40, 45/ 50, D20, D26 — A. Konkov,
Shashki 6-1981 #2628

(2) 6, 20, 22, 33, 34,45/ 50, D10, D26 — A.
Konkov, Shashki 7-1982 p. 15

1% prize Concours ‘Shashki 1981’

(3) 6, 28, 29, 33,40/ 8, 50, D15 — M. Lepsic,
MIF 28-09-2014

White: K48, 11, 18 (3)
Concourse “Israel-2012”, B03,
1% place, 84 points

Author’s the solution as is
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Concours ISRAEL-2012, Category B 1
place with 84 points

VP 7 Z (13ABC), 9 (31D), 26 (38), 1 (34), 40
(43), 49 (48),9-3(34), 43,25 +

A (31), 3 G. Beudin 1888 (?): (37E), 20 (34),
33 V. Nicod, La Heve 26-03-1887: (40), 1
(41FG), 28 (47H), 33,45 +

B (34), 2 (37), 1 (41), 11/16 (31%*), 33/38
(46a), 28/32, 36 +

*in case of 11 (32), > 28, 46 +

C (38), 13, 2 (23J), 2-30 Z; (43KDb), 39 (31L),
25 Z, Z5(37), 3930 Z4 (41/42), 24, 46/48 +
D (34), 25 (38), 4 (31), 36 (42), 47 (48), 1
(37),42,1-34 +

E (34), 1 (39MN), 17 (43), 28, 48 +

F (45), 47 (50), 6 +

G (42), 47 (44), 33 (49), 44 +

H (44), 50 (46/47), 28/33 +

J (33),30(31), 26 +

K (32), 26/31 (28), 26/31-48 (28330), 25 +
L (34), 19 (14L,), 31/36 +

L, (43), 49 (31), 32/38 +

M (38), 20 (43P), 29, 48 +

N (37), 26 (41Q), 17 (46/47), 28/33 +

O (2933), 26 +

P (39), 42/47 (43), 33 (48), 43 +

Q (40), 42 (44), 33 (49), 44 +

Z 132, 7 (23), 2 (34), 25 (31), 24 Z5 (36), 14
(38Y), 49 (41) =

Z116? (32), 31 Z (28Y1), 26 (2833Y>), 31
(42Y3), 47 (39), 15/24 (44) =

Z, 177 (33Y.Y), 44/50 (36/37), 48 (41), 37,
28 (38) =

Z5 487 (36), 37 (28) =

Z, 147 (34) =

Zs5 11 (38Ys), 14 (36Ye) =

Z¢ 26 (33y), 31 (42/43) =

Y (28?), 47 +
Y:1 (33), 7 (29), 34 +

Y, (34?), 31 (40), 3127, 35 (32Y>), 24 (37),
47 +

Y5 (34?), 3127, 25/30 (38), 48 +

Y4 (36?), 3 (41Ys), 19, 36 +

Ya (37?), 3 (42), 19, 47 +

Ys (367), 28 (38), 5/19 (42), 37, 14 +

Y (29?), 20 (33), 39 +

Y- (33), 30 (38), 48 +

Ys (34), 48 (41), 37, 20 (37Ys), 14 (29), 41/46
(33), 32 (39), 49 +

Yo (28), 42 (33), 15/29 (37), 47 +

a (37), 47 (46), 41 (42), 1812 or 28/37, 47 +

16

b (33), 25 (28), and now:

1% win: 14 (2732b,), 5/10 (39), 34 (42), 3423,
48 +

b, (2832), 37 (42), 28, 37 +

2" win: 2530 (2832), 19 (31), 26 +

y (28?), and now 27, 42/47 +

or 31 (28/2933), 3127, 43

The (incorrect), ending of Victor Nicod in
originali: 26, 30/17, 22, D20, La Heve 26-03-
1887

11 (31A), 42 (36), 37 (34), 6 etc

A (34), 33 (40), 7 (31),18 (37), 1 ...

Black: 11, 16, 18, 19 (4)
White: K15, 38 (2)

Author’s the solution as is

1% publication — MIF 12-07-2008
VP 1533 Z (21A), 6 (24BC), 32 (30DE), 1
(22E,), 6 (2227E4), 11, 16 +
A (17), 6 (24), 39 (21), 32 (29), P. Laurens,
L Eclaireur du Soir, 12-11-1937: 48 (33FG),
28, 26 (2127), 37 (31), 26 (28), 3 (33H), 9
(23), 14 (29), 20 (34), 38 (40), 33 (45), 50 +
B (27), 22 (32), 30, 48 +
C (1823), 44 (29), 35 (23JK), 8 (27), 12
(31L), 33, 26 +
D (1823), 6-28 (27M), 30, 48 +
E (29), 1 (27), 34, 48 +
E, (2127), 25, 48 +
F (22), 42 (34), 28 +
G (26), 39 (31), 27, 6/11 (34), 7 (40), 45 +
H (32), 9 (23), 20 (37N), 14 (290), 41/46
(33), 32 (39), 49 +
J (33), 26, 48 +
K (26), 13 (34), 18 (39), 22 +
L (28), 34 (31), 48 (36), 37 +
M (2329), 39 (26), 27 +
N (28), 42 (33), 15/29 (37), 47 +
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O (41/42), 46/48 +

Z 47 (1823), 10 (17), 33 (24Y), 6 (30), 17
(35), 12 (21), 26 (40), 29 (44Y+) =

Y (227), 29, 40 (28), 49 (33), 43 (21), 16 (39),
49 +

Y; (45?), 17 (50), 6 +

The ending of P. Laurens in originali: 21, 29,
40/28, 32, 39, D30

Two endings that make (partly), use of the win
st system of P. Laurens:

(1) 16, 18, 33/32, D25 —

K. Chaletskij, “64” 24-1969

(2) 13,17, 18, 23, 39/7, 38 -

H. Jansen, De Problemist, december 1991

Black: 21, 27, 34 (3)
White: K19, 7, 23 (3)

Author’s the solution as is

VP 1 (39ABC, VP,), 30 (44), 35 (50D), 6
(31E), 3519 (37F), 5 (44), 50 (41/42), 17, 18,
46/48 +

VP, (40), 2 (44),35 > VP +

A (26), 2318 (39), 30 (44), 35 (50G), 6 (32), 8
(44), 50 (38), 6 (31), 21 (42), 1 (47/48H),
38/43, 36 +

B (31), 2318 (39), 28 (43), 17, 26 +

C (32), 2318 (38), 24 (43J), 29, 48 +

D (49), 44 (18), 23 +

E (32), 3519 (27K), 5 (31L), 33/44, 26 +

F (36), 18 (28), 16 (41), 1 (46/47), 32/38 +

G (49), 44 (7), 36 +

H (37), 43 of 1812 (41), 1812 or 43
(4147H.H,), 48 (36), 31 +

H; (46), 32, 47 +

H, (4247/48), 38/39, 46 +

J (39), 42/47 (43), 33 (48/49), 39/44 (7), 26 +

17

K (38), 5 (44), 50 (43), 17, 18, 49 +
L (44), 50 (38), 33 +

Black. 1,2, 12 15 17,19 (6)

White: K 14, 23, 25, 28 (4)

VP 3 (24), 19, 22, 39 (19 A), 44 (23), 33 (1-
7), 24 (12), 250 (8), 2, 30 (28), 25 (32), 3 (18),
9 (23), 20 (37), 14 (42), 48 +

A (1-7), 48 Z Z1 (19 B), 30 (23), 24 (12), 250
(2-8), 2, 30 (28), 25 (33), 3 (18), 9 (23), 14
(29), 20 (34), 38 (40), 33 (45), 50 +

B (11), 37 (18 C), 28 (16), 19 (21), 35 (22/23),
20, 16 (7), 2 +

C (16 D), 32 (8 E), 28 (12), 44 (128), 28 (21),
11 (26 F), 2 (20), 15 (23), 47 (31), 250 (37),
15 (29), 24 (41), 19 (47), 19-24, 24 +

D (17), 26 (22), 8 (27), 35 (20), 14 (32), 8,10
(38), 4 (19), 10 (24), 15 (43), 49 +

E (7), 28 (21), 32 (26), 16 (18), 2 (23), 24
(31), 250 (28), 35, 26 +

F (23), 2 (18), 35 (22), 20, 26 +

Z 172 (19), 44 Z2 (23), 6 (12), 44 (29), 40
(33) =

71227 (19), 44 Z1 (23), 33 (12), 24 (17), 35
(29), 40 (33), 44 (38) =

Z2 287 (24), 20 (29), 14 (20), 25 (34), 23
(39) =

Author’s the solution as is

1.14-3 (19-24), 2.23-19 (24 x 13), 3.28-22 (17
X 28), 4.3 x 39 (13-19 A), 5.39-44 (19-23),
6.44-33 (1-7), 7.33-24 (7-12), 8.25-20 (2-8),
9.24 x 2 (15 x 24), 10.2 x 30 (23-28), 11.30-25
(28-32), 12.25-3 (12-18), 13.3-9 (18-23), 14.9-
20 (32-37), 15.20-14 (37-42), 16.14 x 48 w +
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A 4. (1-7), 5.39-48 (13-19 B), 6.48-30 (19-
23), 7.30-24 (7-12), 8.25-20 (2-8), 9.24 x 2
(15x 24), 10.2 x 30 (23-28), 11.30-25 (28-33),
12.25-3 (12-18), 13.3-9 (18-23), 14.9-14 (23-
29), 15.14-20 (29-34), 16.20 x 38 (34-40),
17.38-33 (40-45), 18.33-50 w +

B. 5. (7-11), 6.48-37 (13-18 C), 7.37-28 (11-
16), 8.28-19 (16-21), 9.19-35 (18-22 or 18-
23), 10.25-20 (15 x 24), 11.35 x 16 (2-7),
12.16 x 2w +

C.6.(11-16 F), 7.37-32 (2-8 E), 8.32-28 (8-
12), 9.28-44 (12-18), 10.44-28 (16-21), 11.
28-11 (21-26 D), 12.11-2 (15-20), 13.2 x 15
(18-23), 14.15-47 (26-31), 15.25-20 (31-37),
16.20-15 (23-29), 17.47 x 24 (37-41), 18.24-
19 (41-47), 19.19-24 (47 x 30), 20.15x 24 w +
D. 11. (18-23), 12.11-2 (13-18), 13.2-35 (18-
22), 14. 25-20 (15 x 24), 15.35x 26 w +
E7.(2-7), 8.32-28 (16-21), 9.28-32 (21-26),
10.32-16 (13-18), 11. 16 x 2 (18-23), 12.2-24
(26-31), 13. 25-20 (23-28), 14.24-35 (15 x
24),15.35x 26 w +

F.6.(11-17), 37-26 7. (17-22 E), 8.26-8 (22-
27), 9.8 x 35 (15-20), 10.25 x 14 (27-32),
11.35-8!1 (2 x 13), 12. 14-10 (32-38), 13.10-4
(13-19), 14. 4-10 (19-24), 15.10-15 (38-43),
16.15x 49 w +

14-3 (19-24), 23-19 (24 x 13), 28-22 (17 X
28), 3 x 39 (13-19 A), 39-44 (19-23), 44-33
(1-7), 33-24 (7-12), 25-20 (2-8), 24 x 2 (15 x
24), 2 x 30 (23-28), 30-25 (28-32), 25-3 (12-
18), 3-9 (18-23), 9-20 (32-37), 20-14 (37-42),
20-14 (37-42), 14 x 48

A (1-7), 39-48 (13-19 B), 48-30 (19-23), 30-
24 (7-12), 25-20 (2-8), 24 x 2 (15 x 24), 2 x 30
(23-28), 30-25 (28-33), 25-3 (12-18), 3-9 (18-
23), 9-14 (23-29), 14-20 (29-34), 20 x 38 (34-
40), 38-33 (40-45), 33-50

B. (1-7), 39-48 (7-11), 48-37 (13-18 C), 37-28
(11-16), 28-19 (16-21), 19-35 (18-22 of 18-
23), 25-20 (15 x 24), 35 x 16 (2-7),16 x 2

C. (1-7), 39-48 (7-11), 48-37 (11-16 D), 37-32
(2-8), 32-28 (8-12), 28-44 (12-18), 44-28 (16-
21), 28-11 (21-26), 11-2 (15-20), 2 x 15 (18-
23), 15-47 (26-31), 25-20 (31-37), 20-15 (23-
29), 47 x 24 (37-41), 24-19 (41-47), 19-24 (47
x 30), 15x 24

D. 11. (18-23), 12.11-2 (13-18), 13.2-35 (18-
22), Position White 25, K 39 14. 25-20 (15 x
24),15.35x 26 w +

E7.(2-7), 8.32-28 (16-21), 9.28-32 (21-26),
10.32-16 (13-18), 11. 16 x 2 (18-23), 12.2-24
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(26-31), 13. 25-20 (23-28), 14.24-35 (15 x
24),15.35x 26 w +

F. 6. (11-17), 7. 37-26 (17-22), 8. 26-8 (22-
27), 9. 8 x 35 (15-20), 10. 25 x 14 (27-32), 11.
35-8!1 (2 x 13), 12. 14-10 (32-38), 13. 10-4
(13-19), 14. 4-10 (19-24), 15. 10-15 (38-43),
16.15x49 w +

False Solutions:

Position after A4. (1-7),

Position: Black 2, 7, 13, 15 White 25, K 39
First False Solution:

39-22? (13-19), 22-44 (19-23), 44-33 (7-12),
33-24 (12-17), 24-35 (23-29), 35-40 (29-33),
40-44 (33-38) =

Second False Solution:

39-22? (13-19), 22-28 (19-24), 25-20 (24-29),
20-14 (15-20), 14 x 25 (29-34), 28-23 (34-
39) =

Third False Solution:

39-17? (13-19), 17-44 (19-23), 44-6 (7-12), 6-
44 (23-29), 44-40 (29-33) =

35-8!1! (2 x 13), 14-10 (32-38), 10-4 (13-19),
4-10 (19-24), 10-15 (38-43), 15 x 49

Black: 4, 10, 12, 22 (4)
White: K49, 39 (2)

VP 33 (14 AB), 38 (9), 32 (20), 14 (13), 25
(27), 30 (18), 48 (32), 28 (23), 26 (29), 3 (22),
9 (28), 14 (33), 20 (34), 38 (40), 33 (44),

(50) +

A (15), 21 Z (18), 32 (9), 29 (20), 38 (28), 24
(29), 3 (32), 9 (23), 20 (37), 14 (42), (48) +

B (9), Z1 Z2 Z3 Z4 40 (17), 23 (15), 32 (20),
14 (24), 21 (30), 38 (35), 47 (40), 28 (33),
(45) +

Z38(9), Z5 21 (18), 43 (14), 25 (19), 48 (20),
37 (24), 42 (23), 31 (28) =
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Z1 32 (15), 21 (18), 38 (14), 43 (20), 25
(27) =

7216 (15), 21 (18), 43 (14), 48 (27), 43
(31) =

Z3 43 (17), Z6 38 (14), 47 (27), 36 (32), 41
(21), 28 (20), 5 (24), 32 (26), 43 (31), 48 (36),
37 (30), 29 (35), 5 (40) =

74 38 (15), Z5 21 (18), Z7 43 (14), 25 (19),
48 (20), 31 (24), 42 (23), 31 (28) =

Z5 43 (18), 38 (14), 42 (27), 38 (31) =

Z5 43 (18), 38 (14), 42 (27), 37 (20) =

Z6 29 (28), 30 (32), 43 (37), 48 (41) =

Z7 38 (14), 47 (27), 38 (31) =

Author’s the solution as is

1.39-33 10-14 2. 49-38 4-9 3. 38-32 14-20 4.
32-14 9-13 5. 14x25 22-27 6. 25-30 13-18 7.
30-48 27-32 8. 33-28 32x23 9. 48-26 23-29
10. 26x3 18-22 11. 3-9 22-28 12. 9-14 28-33
13. 14-20 29-34 14. 20x38 34-40 15. 38-33
40-44 16. 33x50 *

1.39-33 10-15 2. 49-21 12-18 3. 21-32 4-9 4.
33-29 15-20 5. 32-38 22-28 6. 29-24 20x29 7.
38x3 28-32 8. 3-9 18-23 9. 9-20 32-37 10. 20-
14 37-42 11. 14x48 *

1.39-33 4-9 2. 49-40 12-17 3. 40-23 10-15 4.
23-32 15-20 5. 32-14 20-24 6. 14x21 24-30 7.
21-38 30-35 8. 38-47 35-40 9. 33-28 22x33
10. 47x45 *

False Solution 1 Starting at 39-33 10-15
1.49-38 4-9 2. 38-21 12-18 3. 21-43 9-14 4.
43-25 14-19 5. 25-48 15-20 6. 48-37 19-24 7.
37-42 18-23 8. 42-31 22-28 *

False Solution 2 Starting at 39-33 10-15
1.49-38 4-9 2. 38-43 12-18 3. 43-38 9-14 4.
38-42 22-27 5. 42-38 27-31 *

False Solution 3 Starting at 39-33 4-9

1. 49-43 12-17 2. 43-38 9-14 3. 38-47 22-27 4.

47-36 27-32 5. 36-41 17-21 6. 41x28 14-20 7.
28x5 20-24 8. 5-32 21-26 9. 32-43 26-31 10.
43-48 31-36 11. 48-37 24-30 12. 33-29 30-35
13. 37-5 35-40 *

False Solution 4 Starting at 39-33 4-9

1. 49-38 10-15 2. 38-21 12-18 3. 21-43 9-14 4.

43-25 14-19 5. 25-48 15-20 6. 48-31 19-24 7.
31-42 18-23 8. 42-31 22-28 *
False Solution 5 Starting at 39-33 4-9

1. 49-38 10-15 2. 38-43 12-18 3. 43-38 9-14 4.

38-42 22-27 5. 42-37 14-20 *
False Solution 6 Starting at 39-33 4-9
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1.49-38 10-15 2. 38-21 12-18 3. 21-38 9-14 4.
38-47 22-27 5. 47-38 27-31 *

False Solution 7 Starting at 39-33 4-9

1.49-32 10-15 2. 32-21 12-18 3. 21-38 9-14 4.
38-43 15-20 5. 43-25 22-27 *

False Solution 8 Starting at 39-33 4-9

1.49-43 12-17 2. 33-29 22-28 3. 43-30 28-32
4.30-43 32-37 5. 43-48 37-41 *

False Solution 9 Starting at 39-33 4-9

1.49-16 10-15 2. 16-21 12-18 3. 21-43 9-14 4.
43-48 22-27 5. 48-43 27-31 *

Black: 11, 13, 20, 25, 26, 35 (6)
White: K32, 34, 42, 47 (4)

VP 32-38 (31), 15 (30), 25 (40), 4 (19), 36
(44), 20 (49 AB), 36-41 (24), 29 (35C), Z 41-
37 (8), 5 (26 DEFG), 29-23 (48), 42 (19), 6 +
A (50), 36-41 (24), 29 (50-17), 5 (21), 24 (26),
24-19, 42, 6 +

B (23), 14 (49), 14-9 (21), 13 (29), 3 (26), 25,
13-30 (26), 42 (48), 39 (30), 16 +

C (21), 5 (11-17), 32, 38, 38 (21), 32 (27),
21 +

D (30), 29-23 (34), 23-19 (30), 19-14 (13), 5-
10 (31), 5, 42, 6 +

E (21), 24 (8), 20 (26), 14, 42, 6 +

F (12), 24 (3), 24-19 (9), 10 (31), 5, 42, 6 +

G (11-17), 19 (33), 38, 38 (21), 32 (26), 27 +

Z 29-23 (8'Y), Z1 18 (26), 41-37 (17), 47-41
(17-21), 13 (27), 28 (48) =

Y (13?), 41-37 (17), 26 (17-22), 18 (4), 27,
42 +

Z141-37 (26), 19 (11-17), 13 (22), 14 (48) =

Author’s the solution as is
1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4 x 36 40-44 6. 25-20 44-
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49 7. 36-41 19-24 8. 20 x 29 49-35 9 41-37
35-8 10. 37-5 8-26 11. 29-23 26 x 48 12. 47-
4248 x1913.5x6wW+

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 3. 4x36 40-44 4. 25-20 44-49
5. 36-41 19-24 6. 20x29 49-35 7. 41-37 35-8
8. 37-5 8-30 9. 29-23 30-34 10. 23-19 34-30
11. 19-14 30-13 12. 5-10 13-31 13. 10-5
31x48 14. 47-42 48x10 15. 5x6 w +

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 2. 15-4 13-19 3. 4x36 40-44 4. 25-20 44-49
5. 36-41 19-24 6. 20x29 49-35 7. 41-37 35-8
8. 37-5 8-12 9. 29-24 12-3 10. 24-19 3-9 11.
5-10 9-31 12. 10-5 31x48 13. 47-42 48x14 14.
5x6 w +

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4x36 40-44 6. 25-20 44-49
7. 36-41 19-24 8. 20x29 49-35 9. 41-37 35-8
10. 37-5 11-17 11. 5-19 8x33 12. 42-38 33x42
13. 47x38 17-21 14. 38-32 21-26 15. 32-27
26-31 16. 27x36 w +

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4 x36 40-44 5.25-20 19-23
6. 20-14 44-49 7. 14-9 49-21 8. 36-13 23-29 9.
9-3 21-26 10. 3-25 26x48 11. 13-30 48-26 12.
47-42 26x48 13. 30-39 48x30 14. 25x16 w +
1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4x36 40-44 6. 25-20 44-49
7. 36-41 19-24 8. 20x29 49-35 9. 41-37 35-8
10. 37-5 8-21 11. 29-24 21-8 12. 24-20 8-26
13. 20-14 26x48 14. 47-42 48x10 15. 5x6 w +
1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 35-40 5. 15-4 13-19 6. 4x36 40-44
7. 25-20 44-49 8. 36-41 19-24 9. 20x29 49-21
10. 41-5 11-17 11. 5-32 21x20 12. 42-38
20x42 13. 47x38 17-21 14. 38-32 21-27 15.
32x21 w +

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4x36 40-44 6. 25-20 44-50
7. 36-41 19-24 8. 20x29 50-17 9. 41-5 17-21
10. 29-24 21-26 11. 24-19 26x48 12. 47-42
48x10 13. 5x6 w +

False Solution 1

Starting at White: King 32, 34, 42, 47 Black
11, 13, 20, 25, 26, 35

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4 x 36 40-44 6. 25-20 44-
49 7. 36-41 19-24 8. 20 x 29 49-35

Position: White: 29, K41, 42, 47 Black: 11,
K35

False Solution:
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1.29-23 35-8 Y 2. 23-18 8-26 3. 41-37 11-17
4, 47-41 17-21 5. 18-13 21-27 6. 37-28 26 x
48 =

Y 1. 35-13? 2. 41-37 11-17 3. 37-26 17-22 3.
23-18 13-4 4. 18 x 27 4 x 48 5. 47-42 w +
False Solution 2

Starting at White: King 32, 34, 42, 47 Black
11, 13, 20, 25, 26, 35

1. 32-38 26-31 2. 38 x 15 25-30 3. 34 x 25 35-
40 4. 15-4 13-19 5. 4 x 36 40-44 6. 25-20 44-
49 7. 36-41 19-24 8. 20 x 29 49-35

Position: White: 29, K41, 42, 47 Black: 11,
K35

False Solution:

1.29-23 35-8 2. 41-37 8-26 3. 23-19 11-17 4.
19-1317-22 5. 37-14 28 x 48 =

f

f » / %
Y B % %/
7 7
Black: 13, 22, 30, 36, 39 (6)
White: K5, K15, 10 (3)

VP 4 (44 A), 31, 24, 50 (32), 33 (37), 47 +
A (35), 31, 33, 21/16 (40), 17/11 (45), 50 +

Black: 8, 20, 24, 28, 35, 40 (6)
White: K36, K38, 9, 49 (4)
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VP 3 (29), 15 (44), 40, 15-33 (49 A), 16 (35),
44, 36-27 +
A (50), 38-27 +

H H
&
@f

Black: K15, 8, 35, 36 (4)
White: K 33, K43, K48, 20 (4)

VP 43-38 (29A), 2 (41 B), 19 (40), 46 (44),
48-37 (50), 33 +

A (24), 15 (40), 34, 2 (41), 19 +

B (40), 34, 15 (41), 19 +

#B-11

Black: 15, 42, 44 (3)
White: K25, K34, 43, 45 (4)

VP 45-40, 29 (40), 42 (45), 43-39 (20 A), 14
(50), 47-41 (5BC), 46 +

A (50), 24 +

B (46),5 +

C (10),5+

#B-12

Black: 13, 18, 20, 22, 23, 28, 33 (7)
White: K4, K43, 30 (3)

VP 15 (29), 2 (27A), 21 (34), 39 (44), 12, 50 +
A (34), 39 (44), 39 (33), 7 (23BCD), 38 +

B (39), 43 (33), 16 (28E), 43 (39G), 34-25 (32
(29 (37), 47 +

C (32), 21/16 +

D (38), 43-49 +

E (39), 11 (43), 48 +

G (32), 27-16 (39), 49 +

#B-13

Black: 3, 22, 26, 33 (4)
White: K35, 12, 14 (3)

Author’s the solution as is

VP 7 (39AB), 1 (9), 3 (43), 21 (17), 18 (13),
49 +

A (38),1(9), 3(42C), 21 (17), 18 (13),48 +

B (27), 1 (3-8), 2 (32), 14-9 (37DE), 3
(41FG), 21 (17), 12 (17-8), 2:36 +

C (43), 21, 18,49 +

F (42),21, 12,47 +
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G (31), 26 (39), 34 (30), 35 (36), 42/48 (41),
37 (32), 24 (37), 47 +

D (33-38), 3 (43), 34 (38H), 48 (31), 26 (43),
26-8 (49J), 35 (32), 21 (16), 4 +

J (48), 26 (34), 30 (25), 48 +

D (31) - 3y6oB 6 uem.CCCP Illamku NelO
1990 cTp 16 [White: K 19, 12, 14/
Black: 3, 22, 26, 33, variant A ] - 3 (36), 14
(33-38K), 37/46 (43), 34 (49 M), 40, 37-19 +
K (43), 39, 14 +

H (49), 3-8 (49-38 L), 21, 12, 42 +

L (31), 40, 13,26 +

M (48), 37/46-19, 19 +

Black: 2, 4, 12, 23, 26, 30, 39 (7)
White: K20, K45, 40 (3)

Author’s the solution as is

VP 50 (43A), 9 (13), 34 (39), 50:49 (31), 32 +
A (35), 8 (13B), 9 (44), 49 (31), 32 +

B (44), 9 (2-13C), 49 (31), 32 +

C (13),50 (31), 28 +
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Author’s the solution as is

VP 14-19, 25:14 (38A), 1 (8B), 2 (28), 9 (32),
3(43), 34 (38C), 48 (31), 26 (43), 26-8 (49D),
35 (32), 21 (16), 49+

A (27),1(8),2(32), 9 (37EF), 3 (41G), 21
(17), 12 (8), 2:36+

D (48), 26 (39), 30 (25), 48+

E [Author has no solution]

G (42), 21,12, 2:47+

F (31), 26 (39), 34 (30), 35 (36), 42/48 (41),
37 (32), 24 (37), 47+

Black: 14, 15, 18, 19, 32, 33 (6)
White: K5, 7 (2)

Author’s the solution as is

MIF / MHU® Muumtionsl 2016-08-28
http://minietiud.forum2x2.ru/t458-
topic#52870

VP 2 (24A), 5x30 (328B), 2-24 (23), 34 Z
(29), 23 Z1 (39), 42/47 (44C), 40, 29 (20), 15,
33 (45), 50 +

A (328), 30 (140), 25 (24), 9 (42), 48 (38), 28
(30), 25 (42), 33 (47D), 24 +

B (23), 48 (39), 18 (38E), 29 (43), 20, 48 +

C (42),38 +

D (48), 33-39 +

E (37), 19 (42), 37, 36 +

Z 48? (39Y), 18 (43), 38, 29 (37), 47 (20,
41) =

Y (29?), 24-30 (20), 25 (42), 37 (38), 9 (43),
23,49 +

Z1 18? (39), 42 (43Y1), 38, 29 (37), 47 (20,
41) =

Y1 (447), 40, 29 (20), 15, 33 (45), 50 +


http://minietiud.forum2x2.ru/t458-topic#52870
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#B-17

Black: 14, 23, 26, 29, 33 (5)
White: K15, 8 (2)

Author’s the solution as is

MIF / MU® munndTioas: 2016-08-21
http://minietiud.forum2x2.ru/t458-
topic#52724

VP 3 (19A), 8 (28), 30 (31), 30-24, 26 (33),
21 (39), 49 +

A (28), 25 (31), 10 (34B), 10x26 (40), 17 (38),
48 (45), 50 +

B (36), 46 (38), 48 (33C), 46-37 (42), 31 +

C (34), 25/30 (42), 37, 14 +

#B-18

" Black: 18, 23, 27, 28, 29 (5)
White: K30, 9 (2)

Author’s the solution as is

MIF / MU® munudTioasr 2016-09-20
http://minietiud.forum2x2.ru/t458-topic

VP 4 (22), 25 (283AB), 13 (38), 24, Z43 (31),
48 (28C), 26 (33), 21 (39), 49 +

A (293), 15 (29), 24, 16 (39D), 11 (43/44E),
48/50 +

B (282), 15 (34), 17/6 (37), 22,4 +

C (36), 37 +

D (28), 43 +

E (27), 44/50 (32), 33 (37), 47 +
Z 48? (31), 32 (27) =

#B-19

Black: 21, 23, 24, 26, 28 (5)
White: K4, 9 (2)

Author’s the solution as is
Planeta 2018-07-02

VP 3 (239A), 12 (32B), 34 (37CD), 23 (42),
19, 48 (27), 37 +

A (32), 31, 15/20 (28E), 43 +

B (283), 34 (29), 23 (39), 22 (43), 39, 40/45
(31), 23 +

C (27), 36 (37), 23 (42), 37 +

D (31), 36 (37), 23 (27), 30/35 (42), 37 +
E (37), 10/14 (41/42), 46/48 +

#B-20

Black: 13, 14, 19, 21, 29 (5)
White: K5, 15 (2)
Contest ,,Vilnius - 2017% B01,
3rd place, 62 points;
Championship of Lithuania 2018,
Etiudai, position#6, 50 points.
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Author’s the solution as is

VP 150 (18A), 4 (183), 31 (28BC), 26 (27), 3
(283), Z 20 (24), 15 (38DEF), 19, 47 (19G),
36 (32), 4 (23), 15 (28), 42 +

A (24), 8 (33), 2 (38), Z1 30 (42), 37,19 +
B (20), Z2 Z3 Z4 10 (26a), 15, 26 (24), 8
(28), 30/35 (32), 24 (37), 47 +

C (26), 42 (34), 29 (39), 18 (44), 13/9, 50
(31), 28 +

D (31), 23, 26 +

E (30), 19 (304), 19-24, 21/16 (40H), 17/11
(45), 50 +

F (39), 28 (43), 23/19, 49 (31), 32 +

G (32), 15 (18), 4 (23), 15(37), 10 +

H (39), 49 +

Z 25 (24), 43 (31), 41 (36), 14 (34Y), 13 (39),

30 (44Y1), 39, 20 (39Y2) =

Y (30), 25 (38), 48 (33), 14-37 (42Y3), 31 +
Y1 (41), 46 (44), 39, 32 (39), 49 +

Y2 (38), 47 +

Y3 (39), 34/25 (42), 48 (41), 37, 29/20 (37),
47 +

Z1 35 (43), 32 (48Y4) =

Y4 (49), 16 +

Z2 26 (27), Z5 10 (204), 4 (34), 31 (40Y5) =
Y5 (39), 3 (43/44), 13, 48/49 +

Z5 8 (204), 12 (32Y6), 21 (37), 26 (41) =
Y6 (31), 18, 8 (33Y7), 30 (38), 48 +

Y7 (30), 35 (34), 44 +

Z3 9 (204Y8), 25 (27), 43 (31) =

Y8 (25), 3 (34), 26 (40), 12 (45), 40, 40/45 +
Z4 48 (27Y9Y10), 43 (31), 48 (36) =

Y9 (204), 43 (33), 16 (39), 7 (28), 32 (44), 40,

23 +

Y10 (26), Z6 25 (204), 48 (33), 34 (249), 30
(38), 8 (31), 43/49 (37), 26 (41), 37 +

7610 (25), 5 (33Y11), 34 (38), 18 (24Y12) =
Y11 (24), 32 (240Y13), 38 (294), 24, 13 +
Y12 (31), 43 (37), 31, 48 +

Y13 (33), 49 (240), 39, 13 +

a (204), Z7 15 +

Z7 48 (27), 15 (32Y14), 43 (37), 48 (41) =
Y14 (28), 26 (23), 4 (30), 31 (283), 17 (28),
48 (35), 21 (40Y15), 38, 45 +

Y15 (34), 25 (40), 49 (45), 40, 43 +

24

White:K33, 15 (2)
Contest ,,Vilnius - 2017« B02,
4th place, 60 points

Author’s the solution as is

VP Z 42 (22ABC), 10 (27), 4 (28), 36 (33), 13
(38), 36-27 (42), 21, 48 +

A (21), 10 (22), Z1 4 (227), 36 (26), 15 (28D),
Z2 Z3 10 (24E), Z4 47 (30), Z5 29 (35F), Z6

Z7 34/5 (31), 34/29-23, 26 (40), 17 (45), 50 +

B (24), 20 (28), 10 (37), Z8 4 (23), 3 (32GH),

36 (42), 18, 47 +

C (28), 10 (183), 4 (24a), 20 (21), 14 (26), 22,

37/46 +

D (37), 10 (42), 18/13, 48 (18/13), 37 +

E (23), 22, 37/46 +

F (31), 29-23, 26 +

G (41), 21, 47 (32), 20/15 (28J), 42 +

H (42), 18, 47 +

J (37), 14/10 +

Z 10 (22), Z9 6 (38), 5 (43Y) =

Y (42), 28, 48 +

Z9 17 (38Y1Y2Y3), 8 (24) =

Y1 (21), 26 (38), 4 (43), 18, 48 +

Y2 (37), 5 (41/42), 28, 46/48 +

Y3 (24), 5 (21), 37, 26 +

7126 (217Y4) =

Y4 (228), 39 (37Y5 Y6), 5 (41/42), 28,
46/48 +

Y5 (38), 5 (42), 28, 48 +

Y6 (28), 22 (38), 5 (24), 4 (42/43), 19, 48/49 +
Z2 29 (23), 18 (38 Y7 Y8), 18-27 (42), 47
(48) =

Y7 (37), 47 (31), 36 (41), 22, 36 +

Y8 (33), 23 (39), 46 (43/44), 31, 49/50 +
Z3 18 (37), 23 (33Y9), 31 (28), 37 (33), 42
(39) =
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Y9 (32), 14/5 (31), 33 (36), 33-28, 46 +
Z4 18 (31Y10), 36 (33), 37 (39), 4 (30Y11),
27 (44) =

Y10 (33), 37 (39), 18-31 (44), 46, 49 +

Y11 (43/44), 19, 49/50 +

7519 (34Y12) =

Y12 (35), 15 (31Y13), 30, 15x38x36 (33), 27
(39), 49 +

Y13 (40), 38, 35 +

Z6 45 (33Y14), 37 (38Y15), 48 (31), 26 (43),

17 (48) =
Y14 (31), 45-23, 26 (40), 17 (45), 50 +
Y15 (39), 28 (43), 39, 18 (31), 36 (40), 22
(45), 50 +
Z718 (31Y16) =
Y16 (33), 37 (39), 18-31 (40), 46, 35 +
785 (32Y17), 20-14 (38) =
Y17 (23), 20-14 (41/42Y18), 19, 46/48 +
Y18 (33), 39/50 (42), 37, 28 +
a (21), 210, 27 +
710 26 (37), 24 (41) =

#B 22

Black: 12, 18, 23, 24, 28, 35 (6)
White: K48, 14, 45, (3)

Author’s the solution as is

MIF / MA®, 2018-12-16
http://minietiud.forum2x2.ru/t1465p50-
topic

VP 9 (22Aa), 3 (249Bb), Z 21 (40C), 34, 32,
45 +

A (249), 4 (22), 27/36 (40D), 34, 18 (45), 40,
25 (17EF), 3 (33), 21 (39), 49 +

B (32), 30, 42 (30), 40 (35), 34 +

C (283), 38, 14 (33G), 9 (28), 14 (32), 37
(39H), 32 (44), 28 (49J), 44, 34 +

D (18), 13 (40), 34, 35 (45), 40, 25 (32KL),
20 (28), 42 +

E (32), 3(18), 9 (23), 20 (28), 42 +

25

F (33), 3 (18), 9 (23), 14 (29), 20 (34), 38
(40), 33 (42), 50 +

G (27), 20 (34), 25 (340M), 34 (32), 20 (37),
47 +

H (38), 48 +

J (50), 6 (40), 34 (45), 1 +

K (33), 14 (29), 20 (34), 38 (40), 33 (45), 50 +
L (29), 14 (293), 32 (39), 49 +

M (350), 21/16 (44), 40 +

a(17), 4 (172), Z1 15 +

b (18), 48-25 (33), 30 (238), 32 (39), 16 (44),
17,49 +

Z 26 (283YY1), 26-37 (40), 19 (44), 40, 32
(27), 16 (40), 11 (38) =

Y (27), 26-42 (283), 34, 31/36 (44), 22 (49),
44, 34 +

Y1 (40), 34, 26-31 (45), 40, 30/25 (32), 24/20
(37), 47 +

7139 (239Y2), 50 (293), 10 (23) =

Y2 (249), 10 (40), 34, 33, 35 (28), 2 (32), 7
(22), 11 (27), 16 (31), 38 (37), 47 +

Black: 19, 23, 28, 35 (4)
White: K48, 9, 17 (3)

Author’s the solution as is

MIF / MU®, 2018-06-03
http://minietiud.forum2x2.ru/t1465p75-
topic

VP Z Z1 12 (40A), 34, 8 (283B), 4 (39CD), 3
(34E), 27 (44F), 13,49 +

A (32), 7 (38), 3 (40), 34, 2 (33), 30 (42G),
19,47 +

B (32), Z2 2 (24), 30/35 (37), 3 (41/42), 19,
36/47 +

C(34),22(28),2,7/11 +

D (38), 3 (42/43), 14, 47/49 +

E (43/44), 14, 49/50 +
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F (29), 13, 44 (40), 35 (34H), 44 +
G (29), 26 +
H (33), 30 (38), 48 +

Z 4 (40), 26 (45Y) =

Z13(33), Z3 Z4 31 (28Y1), 172 (24), 27
(39) =

Z2 4 (24Y2), 3 (28), 31 (283Y3), 21 (338), 16
(33), 31-27, 43 (29), 48 (38) =

Z3 3-12 (24), 42 (40), 20 (45), 39 (50), 20-33
(45) =

Z4 172 (40Y4), 34, 7 (28Y5), Z5 2 (32), 30
(37), 26 (41) =

Z5 21 (39Y6), Z6 2 (23), 11 (283), 32 (34), 14
(38) =

Z6 1 (34), 40 (23), 1 (44), 40, 49 (33), 44
(38) =

Y (29), 13, 12, 45 (33), 34 (38), 48 +

Y1 (40), 22 (28), 172, 13 +

Y2 (28), 2 (283), 30 (37), 15 (41/42), 30-24,
36/47 +

Y3 (38), 14 (32), 37 (43), 23, 48 +

Y4 (28), 7 (40), 1 (44), 40, 21 (40), 38, 45 +
Y5 (39), 2 (34), 35 (43), 19, 48 +

Y6 (34), 2 (23), 7 (29), 49 (339), 11 (283), 32
(40), 32-28, 35 (34), 44 +

2 s % / @/
/ / / /

Black: 9, 16, 21, 28, 35 (5),
White: K34, 38, 44, 45 (4)

Author’s the solution as is

VP 450 z (32 A, B), 27, 29 (21 C), 24 (27 D,

D1),15(13E,EL, F),4=

> M, Tsvetov < =

(19 G), 31 (38), 48

(23 H), 404 (28), 449 (43), 33, 25, 39, 50 +
A (14), 48 (32), 27, 42 (21), 39, 26 (38), 48 +

26

B (27), 48 (282), 25/34, 48 (32), 42 (14), 15
(37B1),39,31=

> C: M, Douwes, 1944 +

B1(21), 39, 16 +

C (37),15(14),39,31 =

> M, Douwes, 1944 < =

(21 1), 26 (27), 3 (19 J, J1), 9 (32), 4 (23 K,
L), 15 (28 M), 42 +

D (26), 39, 4, 36 +

D1 (14), 39,16 +

E (14), 24 (20 E1), 15 (31), 39, 36 +

E1(31), 39, 36 +

F (37),39,4+

G (38), 31 (43), 48, 30, 35, 44 (29), 39 +

H (24), 40-34 +

1 (19), 27 (24 N), 38 (30), 43 (35), 49 (21), 16,
11,50 +

J (20), 25 (32), 20 (37), 47 +

J1(32), 20 (37), 47 +

K (38), 10 (24), 15 +

L (37), 10 (29), 41/46 (33), 32 (39), 49 +

M (37), 10 +

N (23), 38 (28), 27/49 (33), 42 (21), 16 (39),
49 +

z212? (40Y), 34 (32), 27 (32) =

Y (32), 26, 39, 48 (350), 3 (44), 40, 12 (21),
26,17,50 +

#B- 25
_
// / /

»
-//%f

Black: K50, 3, 12, 20 22, 28 (6)
White: K16, 13, 21, 49 (4)
Concourse “Israel-2012”, B29,
4™ place, 70 points

Author’s the solution as is

Participated in MK “Israel-2012”

VP 44 (33 A), 17 (21 B), 15 (32 C), 29 (37), 1
(8 D), 2 (41/42), 18, 46/47 +

A (39),17 (11),43 (24 E,F),25Z (32 G), 14
(38),139 (43 H), 5,48 +
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B (11), 38 (25),21 (30 1), 13-8, 35 (32 J), 24
(37), 47 +

C (27), 29 (31 K), 1 (32/33), 8, 26 +

D (41/42), 8, 47/48 +

E (33), 21 (39 E1), 13-8) +

E1l(25),43 -sameas | +

F (25), 21 =» sameas B +

G (29), 14 (34), 32 (40 L), 28 (45), 50 +
H (8), 4 (42/43), 19, 48/49 +

1 (33), 43 (30), 25 (38), 48 +

J (33),30(38), 48 +

K (282), 42 (31), 26 (38), 48 +

M (39), 49 +

Z 49?7 (30'Y, Y1), 43 (35), 49 (33), 44 (38) =
Y (33), 43 (29 Y2), 25 (38), 8, 3 (18), 9 (23),
14 (33), 43 +

Y1 (29), 40 (293), 1 (9 Y3), 4 (38), 23, 10
(24), 15 +

Y2 (30), 25 (38), 48 +

Y3 (8), 2 (32), 34 (37/38), 24 +

#B-26

Black: K39, 9, 16, 20, 22, 29, 34 (7)
White: K45, K48, 7, 12 (4)

Author’s the solution as is

VP 50 (25 A), 3 (27 B), 30, 2 (31 C, D, a), 30,

14 (30), 7 (34 (1), (39), 28 (43 E), 11, 26 +
A (29-33), 1 (27), 45 (50), 3 (31 F), 6 (36),
39/44, 21, 23 +

B (28), 30, 2 (39 G), 25 (44), 39, 12-7 (32), 1
(328 B1, H), 2-7 (42/43), 11, 47/48 +

B1 (37/39), 11 +

C (39), 25 (44), 39, 12-7 (38 C11,J), 1 (42
J1), 11,48 +

C1(32), same as B after (32) +

D (32),9 (40), 11,35 +

D1(32),11,35+

E (37), 44/50 (41/42), 11, 46/47 +

27

F (33-39), 6 (39-44), 40, 28/44, 49 (21), 16,
11,50 +

G (40), 9 (21 D1, K), 22, 16 +

H (338), 11, 42 +

1 (31), 1 (36 11), 11, 47, 36 +

11(38/39), 11, 26 +

J(21), 1 (38), 11 (31), 17, 26 +

J1(31), 11, 26 +

K (45), 11, 50 +

a (40), 35 (45), 44 +

_

b
B /
/ e e
Black: 13, 18, 21, 22, 27, 40 (6)

White: K42, 7 (2)

Competition »In memory
1.Vitoshkin* (Memorial LS.
Vitoshkin), 2013-2014, B11,

3" place, 80,5 points

Author’s the solution as is

Published in Internet on “MIF” website,
participated in L. Vitoshkin Memory MK
VP 1 (45 A), 40, 26 (18 BCD), 25 (32 VPy), 9
(23), 20 (37 VPy), 14 +

VP (23),9 (32), > VP +

VP, (28), 42 +

A (28), 45 (26), 34 (271), 25 (18 EF), 47 (36
GH), 14 (23), 5 (31), 24 (37), 19, 46 +

B (39), 43 (31), 48 (28), 26 (33), 21 (39), 49 +
C(32),18+

D (28), 31/36 +

E (36), 14 (31), 26 (41), 26-37, 15 (18), 4
(23), 15 (37 Ey), 10 +

E; (28), 42 +

F (19), 24,36 +

G (32), 15 (36 G1, Gy), 14 (31), 26 (41), 37,4
2> E+

G: (37), 38, 4/13, 36 +

G, (23), 29, 36 +
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H (37), 33, 4/13, 36 +

#B-28

Black: K14, 41, 42 (3)
White: K19, 10, 15, 28 (4)

VP 30 (5), 48 (37A), 10, 46 +
A (32), 19 (47), 24, 24 +

#B-29

Black: K15, 21, 26 (3)
White: K42, 31, 38, 43 (4)

9, 34, 35 (6)
White: K49, 23, 33, 43 (4)

VP 39 (43 A), 4 (18), 22 (40), 29, 35 +
A (38), 4, 19, 49 +
Legality 25-20 (24-29), 38-33 (15:24)

VP 47 (42 A), 16, 32, 38 +
A (37), 43-38, 26 +
Legality (20-25), 37-31 (25:21)

#B-31

Black: K29, K35, 6 (6)
White: K23, K49, 34, 45 (4)

VP 7 (40 A), 34 (11 B), 16 (19), 30, 2 +
A (1), 45-40, 40 (11), 45, 16 +
B (19), 30, 07-40, 40/35 +
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Black: 12, 17, 23, 24, 26, 29 (6)
White: K43, 15, 21 (3)
Competition ,,In memory
L.Vitoshkin“ (Memorial |.S.
Vitoshkin), 2013-2014, B07,
2" place, 88,5 points

Author’s the solution as is

Memopuan JI.C.Buromknna

VP 10 (31 VP1, A), 4, 36 (28), 4 Z (293 B),
10 (29 C), 32 Z1 (31 D), 25

(17E), 20 (21 F G), 16 (37), 38,47 +

VP1 (28), 4 (31), 36, 4 u nansiie kax B / after
as VP

A (33), 4 (31), 36, 4 (17), 15 (239 H), 21 (22),

8 (31 1), 30 (28 J), 30-24, 26 (33), 21 (39),
49 +

B (17), 15 Z2 (31 K), 34, 45 (32 L), 29 (37),
47 +

C (17), 41 (31 M), 47 (29 N), 42 (36), 31, 34
(38), 48 +

D (38), 34 (27 D1), 36 +

D1 (40), 35 +

E (36), 20 (34), 42 (40 O O1), 33 (45), 50
(17), 6 (50), 328, 28 +

F (22), 23, 26 (28), 3 (33 P), 9 (23), 14 (28
Q), 32 (39), 49 +

G (39), 12 (44), 40 +

H (249), 48 (28), 20 (32), 34, 45 +

1 (38), 35 (33), 29 +

J(36), 19 (34), 38/47 (40), 33 (45), 6 (50), 10-

28, 28 +
K (21), 16 (31), 11 (32), 33, 26 (38), 48 +

L (33), 34 (38), 48 +

M (29), 36 (21, 34), 32 (349), 46 (44 M1 S),
3150 +

M1 (43), 3148 +

29

N (21 N1), 15 (37), 16 (41), 32 (47), 328 +
N1 (37), 15 (41), 32 (47), 328 +

O (39), 16 (43 02), 49 (41), 37, 8/3 +

01 (4139), 337/1 +

02 (44), 317/1 +

P (32), 9 (23), 20 (37 R), 14 +

Q (29), 20 (34), 38 (40), 33, 50 +

R (28), 42 +

S (31), 22 (38), 44/50 (42 S1), 37 +
S1(43),39 +

Z 137 (293 Y1), 35 (31 Y2), 19 (39, 48) =
Y1 (283), 35 (31), 34, 36 +

Y2 (282, 38), 49 (42), 2148 +

Z1 377 (34), 25 (38), 37-48 (3142) =
Z2 4-277 (283 Y3 Y4), 48 (39 Y5 17) =
Y3 (21, 31), 48, 31 +

Y4 (32, 31), 42,31 +

Y5 (34, 17), 43 (22 Y6), 16 (28

Y7), 43 +

Y6 (2139), 49 +

Y7 (39), 11 +

B P
S

7

Black:28, 30, 33, 36 (4)
White: K44, 42, 43 (3)

Author’s the solution as is

30/04/2015 Mu® [MiF]

VP 35 (34 AB), 49 (339 CDE), 40, 46 +
A (38), 23 (41), 2 (47), 19 +

B (39), 46 +

C (41), 428, 39, 36 (32 C1), 31 (38), 48 +
C1(33), 27 (39),49 +

D (32), 438, 40/45, 37, 29 (37), 47 +

E (40, 41), 37,39 +
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y
4 / / 4
Black: 21, 23, 32, 35 (4)
White: K7, 8, 41 (3)
Competition ,,Jn memory l.Vitoshkin*
(Memorial 1.S. Vitoshkin), 2013-2014,
B08, 12" place

Author’s the solution as is
Memopuan JI.C.Buromknna

VP 8-2 (33 A), 24 Z (39 B), 30, 16 (37 C), 19,

5+

A (27), 24 (31), 15 (36), 11, 33 +

B (328), 34 Z1 (27), 15 (32 D), 37, 34-29, 36,
22,50 +

C (27), 37, 46 +

D (40, 39), 47 (43), 38, 23 (38), 34 (42), 37,
23 +

7117 (38), 7 (26 Y1), 28, 47 (40), 33 (45), 50
(31) =

Y1 (42/43), 28, 47/48 (40), 33/39 (45), 50
(27), 37 +

Z111? (39), 42 (43), 38, 16 (37 Y2), 41x32
(40) =

Y2 (27), 37, 46 (40), 28, 50 +

30

White: K47, 7 (2)

VP 2 (19 A), 36 (32 B), 4 (23 C), 30 (38), 48
(29), 37 (24 DE), 36 (33), 4 (27), 36 (43), 28,
48 +

A (31), 30/35 (37, 41), 19 (47), 24, 16 +

B (26), 25 (31), 34 (36), 29, 47 +

C (38), 10 (27), 49 (31), 30 (37), 48 (41), 37 +
D (25), 23, 43 (26), 48 +

E (33), 9 (25 VP1), 22, 43 (26), 48 +

VP1 (27), 36 (43), 28, 48 +

Black: 10, 17, 19, 29, 44 (5)
White: K32, 28 (2)
Championship of Lithuania 2018,
Endgames, position#1, 18 points

Author’s the solution as is

Yemuuounar JIuresl, 2018 roa

VP 49 (50AB), 38, 38x24x31 (21C), 37 (15),
32 (26), 37 (20), 42 (25), 48 +

A (22), 5, 32 (39), 49 +
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B (23), 40, 38/49 + Yemnuonat JIuteel 2010 roga
C (15), 42 (21D), 38 (26), 42 + VP 34 (37A), 45, 42, 37, 42 +
D (22), 38 (28), 24/29/47 (32), 42 (20), 15 A (38), 45, 47 (32), 482 +

(37), 47 +

Black: 20, 21, 25, 26, 28 (5)
Black:10, 25, 31, 36, 37, 44 (6) White: K3, 8 (2)

White: K1, K4, K15, 34 (4) Championship ofLithuania 2012,

Championship of Lithuania 2014, Endgames, position#16, 10,0 points

Endgames, position#27, 2,5 points.

Author’s the solution as is

Author’s the solution as is Yemuuonar Jiutbr 2012

Yemnuounar Jiurssl 2014 roxa VP 2 (24A), 35 (32), 19 (38), 24 (43), 24-20,
VP 30, 49 (371A), 49-27, 31, 47 + 48 (27), 37 +

A (14), 49-27, 42/48 (41), 37, 42 (19B), 15 A (27), 30, 36 +
(37C), 10 (41/42), 46/48 +
B (20, 37), 47 +

C (23), 20 (28), 42 +

#B-38

Black: 19, 21, 26, 28 (4)
White: K34, 42 (2)
Contest “Lietuva — 20107, B09, 6™
place, 49,50 points

White: K43, 30, 48 (3)
Championship of Lithuania 2010, Author’s the solution as is
Endgames, position#16, 1 point [on Etion nmpuiimaB y4acth y MiXKHapoOIHOMY
a 10-point scale] konkypci “Jlirea-2010” (01.10.2010)
VP 39 (32A), 30 (23BC), 48 (27), 38, 36 +

Author’s the solution as is
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A (24), 22 (30), 18 (35 AL D), 37 (27), 31/36
(40), 22 (45), 50 +

A1 (31), 36 (34), 22 (40 D1), 33/39 (45), 50

(27), 37 +

B (27), 36 (37), 31, 47 +

C(37), 31+

D (31), 36 (34), 22 (27), 31/36 (39), 22 (43),

38 +

D1 (27), 31/36 (39), 22 (43), 38 +

Black: K11, 22, 25, 28, 33 (5)
White: K3, K49, 8 (3)
Concourse “Israel-2012”°, B16,
5" place, 57,66 points.

Author’s the solution as is

Etion npuiimaB y4acTb y MIKHapOAHOMY
KoHKYypci “U3panan-2012”

VP 2 (16a), 3-21 (32A), 18 (32BC), 34 (37D),
2-30 (41/42E), 45, 36/47 +

A (27), 21/16 (39), 12 (30FGH), 35 (43IK),
23,49 +

B (38), 23 +

C (30), 35 (38), - B.Aragonos 1969 2
(33LM), 24 (39), 47/42 (43), 38 +

D (33-38), 24 +

E (38), 45 +

F(27), 23 +

G (43), 18,49 +

H (44), 30, 49 (33), 16 +

1 (27), 34 +

K (32),34 +

L (42/43), 23, 47/48 +

M (32), 27, 16 +

a (6), 11, 26 (39), 37 Z (27), 23 (31), 45 (37),
50 +

Z 487 (27), 34 (31), 48 (36), 37 (30) =

B-42

H

lack: 17, 22, 28, 36 (4)
White: K47,7 (2)

VP 2 (27AB), 8 (22CC1), 8-24 (28-32D), 24-
42 (28E), 26 (33), 29/15 (41), 47 (46F), 41,
42 +

VP1 (27), 26 (33), 29/15 (41), 47 (46F1), 41,
42 +

A (21), 19 (33), 15 (28), 16, 32 +

B (32), 8 (27E1), 26 (38), 33/15 (41), 37, 42 +
C (28-32), 26 (38), 33/15 (41), 37, 42 +
C1(21), 26 (33), 29/15 (41), 37, 42 +

D (27-32), 24-42 (33VP1), 15 (38G), 17/6,
28 +

E (31), 26 (38), 17/6, 37 +

E1 (21), 26 (38), 17/6, 37 +

FF1(38), 22 (43), 39 +

G (37), 10 (36-41), 18/4 (42), 37, 36 +

#B-43

Black: 5, 13, 22, 26, 28, 45 (6)
White: K7, K48, 49 (3)
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VP 44 (18 VP1), 46 (31 AB), 26 (28 Al), 10,
17 (50), 6 +

VP1 (31), 26 (18), 46 (28 C), 10, 17 (50), 6 +
A (10), 5 (31 DE), 26 (28 C1), 46, 26-37 +

B (28), 10, 40 +

Al (10), 5 (28 G1), 46, 26-37 +

C (10), 5 (50), 28 (22:33), 48, 34/25 (38), 48 +
D (50), 46 (33), 31 +

E (28), 46 (50 E1), 48-37 +

E1 (31), 26, 26-37 +

C1 (50), 28 (22:33), 48, 34/25 (38), 48 +

#B-44

Blac
White: K24, 22, 49 (3)

Author’s the solution as is

VP 24-42 (11-16), 49-43 Z (16-21), 42-48
(21-26), 43-38, 3 (26-31 A), 3-26 (31-36), 26-
37 (10-15), 22-18 (15-20), 18-13 (20-24), 13-9
(24-29), 9-3 (29-34 a), 3-25 (34-40), 25-39
(40-45), 39-50 (7-11, 45-50), 37-28, 28 +

A (10-15), 22-18 (26-31), 3-26 (31-36), 26-37
(15-20), 18-13 ...idem +

a (29-33), 3-17 dual 3-25... +

Z...21-17? (21, 15), 43 (20, 37), 47 (13) =

B-45

Black: 9, 13, 16, 29, 34 (5)
White: K44, 12, 15 (3)

VP 12-7 (13-18), 7-2 (16-21), 2-11 (21-27),
44-49 (34-40), 35 (27-31), 35-8 (31-36 A), 8-3
(18-22), 17 (36-41), 17-28 (41-47), 11-2 (47-
36), 28-41, 2-24, 24 +

A (29-33), 39 (31-36), 39-48 (36-41), 48-37,
8-3 (9-13), 15-10 (18-23), 10-4 (13-19), 4-

Black: K35, 28 (2)
White: K8, K9, 7 (3)

Author’s the solution as is

VP 9-13 (35-44 A), 7-1 (44-50), 13-18 (28-
33), 8-2 (33-39 B), 18-22 (39-44), 2-35 (44-
49), 1-6, 44 +

A (35-49), 7-1 (28-32 C), 1-40, 8-2 +

B (33-38), 1-6 (50-44), 50 (38-42), 18-13 (42-
47 ou [or / unu] 42-48), 50-33 ou 50-39 +

C (49-16), 1-7,13-35 +
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Black: 16, 21, 25, 30, 32 (5)
White: K15, 9, 48 (3)

Author’s the solution as is

VP 15-47 Z1 Z2 Z3 (21-26), 47-41 Z4 Z5
(26-31, 31-36), 48-42 (36-41), 42-37, 9-4 (32-
37 A), 4-15 (37-41), 35-19 (41-47), 19-24, 38
(25-30), 38-43 (30-35), 43-49... +

A (32-38), 35-49 (38-42), 49-21, 48 +

Z13?(34,40) =

Z2 9-47 (34), 33 (40), 50 (30), 6 (45), 31 (27),
35 (37), 19 (50, 45) =

Z3 10? (34), 37 (40), 28 (27), 50 (31), 3 Z6
Z7 (36), 14 (21), 42 (27), 19 (45), 46 (30), 28
(34), 37 (40), 31 (44) =

Z4 47 (37), 10 (34, 40), 33 (31) =

Z5 37 (37), 14 Z8 (34, 40), 33 (31) =

Z6 4 (36), 10 (21), 42 (27) =

Z7 42 (36), 37 ou [or/umm ] 4 (21) =

Z8 12 (35), 23 (30, 40) =

Black: 1, 12, 23, 28, 33 (5)
White: K11, 9 (2)
Concourse “Israel-2012”, C11,
7" place, 51 points
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Author’s the solution as is

Konkypc «M3panab-2012»

VP 3 (29A), 26 (34B), 42 (6), 40, 49 (33), 43
(22E), 16 (39C), 11 +

A (6), 26 +

B (7, 34D), 16 (40), 32, 45 +

C (28),43 +

D (39), 12 (34), 40 (43), 23,48 +

E (21, 39), 49 +

#B-49

=5 0
B B
B om -
B om E m
BEom s m
Bom e
B E B E
AR N
SN
A NN

Black: 1, 15, 24, 29 (4)

White: K41, 11, 47 (3)
Championship of Belarus 2014,
endgames, position#11, 5,4 points [on
al0-points scale]

Author’s the solution as is

17-ii Yemnuonart Pb mo mameuynoi
KoMmo3uuum, 2014r

VP 36 (30A), 13 Z (30-34), 18 (20), 42 (25),
38 (30), 12 (35), 11-7 (33BC), 40, 3,50 +

A (34), 13 (30, 39), 49 (20), 42 (24), 42-38
(29), 6 (34), 35 +

B (35-40), 33, 3, 35(39), 49 +

C (6), 2 (33DE), 40, 40, 7 (11), 16, 11, 50 +

D (35-30), 30, 45 +

E (11, 33), 40, 40 +

Z 187 (30-34), 42 (20 ), 38 (25 Y1), 12 (30),
3Z1(7Y2, 39, 33,42) =

Z111-72 (35), 2 (33, 44) =

Z272,1(17), 6 (21, 27) =

Y (33), 40 (39), 38 (20), 6 (25), 35 Z2 (30), 2
(44), 11 +

Y1 (24), 13 (30, 39), 49 (34), 35 +

Y2 (35), 33, 7, 25, 39, 50 +
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#B-50
TP B e
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BoE e E
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Black: 5, 15, 31, 35, 36 (5)

White: K4, K47, 45 (3)
Unpublished

Author’s the solution as is
Unpublished

He ony0simkoBan
VP 9 (10), 3 (37A), 26 (14), 48 (19BC), 43
(24D, 24), 49 (41E), 45-40, 46 +
A (20, 37), 14 (42F), 37,10 +
B (14-20), 43 (40, 24, 24), 32 +
C (15-20, 41), 37, 42 (19), 15 (37), 10 (40,
44), 40 +
E (29), 45-40, 23, 46 +
D (40, 20, 41), 32 (47, 36), 41, 34-29 +
F (36-41), 31, 46 +

#B-51

"
e 7 7 7
/ 0,0 .50 7
e e 1

/
. 5
///4%%

Black: 6, 18, 19, 25, 28, 35, 39 (7)
White: K16, K42, 26, 38 (4)
Championship of Belarus 2018,
endgames, position#36, 3,65 points
[on al10-points scale]

Author’s the solution as is
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19-f Yemnuouwar PBb mno 1mamreyHoii

KoMmo3unuu, 2018r

VP 48 (44A), 33, 22 (49B), 22-27, 49 (11),
26-21 (30C), 27 (40D), 22 (45, 50), 21-17,
25 +

A (19-23), 34 (30, 40), 9 (22), 36 (44), 26-21
(29), 22,33 +

B (50), 17, 7 (11, 40), 11 (45), 50, 21 (34), 6
(40), 50, 6, 21-17 +

C (16), 27 (40), 36, 45 +

D (16), 36, 18 +

Black: 8, 10, 1
White: K

Author’s the solution as is
Is published in ‘De Problemist’, category
einDsPel, nr. 753, oktober 2018
VP 25 Z (149), 16 Z1 (15), 4 (38), 350 Z2
(24a), 19 (31A), 36 (42B), 48 (47), 42,9
[P.Burggraaff, 1939, ‘1001 miniaturen’] (12), 25
(17), 39 (21), 43 (26), 48 (20), 42 (25), 48 +
A (42), 20, 48 (31C), 3 +
B (13), 4 (42D), 20, 48 +
C(13),37 +
D (20), 14 (42D1), 193 (47D2), 41 +
D1 (43), 193 (49D2), 32 +
D2 (48), 37 +
a (23),3(29), 43/49 +
FST:
Z 167 (39), 20 (44) =
Z1 3507 (24, 24), 16 (15Y), 20 (24) =
Z2 48? (24y), 36 (29), 3627 (31), 3 (42) =
Z3 97?7 (31Y1), 36 (13Y2), 9 (34Y3), 20
Z4 (39/40Y4), 42 (44/45) =
Z4 25 (40) =



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

JIT:
Y (29?), 5 (38), 20 Z3 (33), 32, 3 +
Y1 (42?), 23, 48 (31), 3 +

Y2 (43?), 13, 48 +

Y3 (43?), 23, 49 +

Y4 (43?), 29, 49 +

y (237), 27 (31), 3 (42), 18 +

#B-53

Black: 18, 19, 23, 24, 28 (5)
White: K26, 42, 49 (2)

Author’s the solution as is
published in ‘De Problemist’, category
einDsPel, nr. 791, June 2019
VP 38 Z (239), 48 (183A), 39 (293), 20 (32), 48
(38), 31 Z1 Z2 (28a), 15 (33), 10 (39), 104 Z3

(393BCh), 48 (23), 12 (42), 15 (48), 26 (34), 43,

152 +
A (32), 27 (33), 493 (29), 22, 38, 33/38 +
B (44), 40 (43), 48 (49), 15, 30 +
C (383), 38 (44), 3118 (50), 33 (9), 24/35 +
a (29), 4 (24ala2), 27 +
al (23), 10 (43), 38 +
a2 (34),14 +
b (23), 042 (383), 38 +
FST:
Z 177 (22Y), 12 (249), 8 (24), 30 (27), 48 Z4
(31Y1), 493 (36), 37 (32Y2) =
Z1 267 (29), 15 (34), 10 (40), 5 (45), 43 (50) =
Z2 157 (29), 10 (34), 13 (42) =
Z3 57 (383), 50 (48) =
Z4 38 (31Y3), 48 (36) =
Z5 49?7 (40) =
Z6 227 (28, 38) =
JIT:

36

Y (327), 21 (37), 31 (239), 16 (34), 44 (29y), 317
Z5 (183), 7 (24), 1 Z6 (30), 22 (35), 39, 228, 48

(40), 39 (45), 50 +

y (30), 43 (183), 48 +
Y1 (2827), 493 (31), 438, 39 (36), 37 +
Y2 (283?), 31, 38, 9/4 (28Y4), 14/10 (283), 20/15

(34), 38 (40Y5), 33 (45), 50 +

Y3 (32?), 25, 48 (28), 493 (272/282/283Y6), 38 +
Y4 (33), 14/10 (28), 32 (39), 49 +

Y5 (39), 49 +

Y6 (34), 39 +

Black: K19, 9, 18, 22, 24, 26, 29 (7)
White: K2, K37, 32 (4)

Author’s the solution as is

Unpublished
VP 46,30 Z (27A), 3008 (271B), 3 (34a), 48
Z1 72 (23), 25 (36b), 14 (31), 26 (41), 37, 24
(37), 47 +
A (31), 48 Z3 (36), 16 (23CDE), 31,
16x38x20x3 (29F), 9 (28F1G), 14 (283HK),
20 (34), 38 (40L), 33 (45), 50 +
a (36), 47 +
b (37), 14 +
B (261), 16 Z4 Z5 (37c), 3 (41B1), 13, 46 +
Bl (42), 13,47 +
c (23), 16x38x20x03 Z6 +
C (27),3 (41), 37,9 (23), 20 (37M), 14
(41C1N), 46 +
C1 (42), 48 +
D (34),3(41), 17, 46 +
E (41), 37,3 +
F (27), 9 (28/29C2), 31/36 (33), 27 (39),
49 +
C2 (32), and further as variant C;



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

F1 (27), further as variant F;
G (34), 27 (40P), 22 (45), 50 +
H (34), 32 (40R), 28 (45), 50 +
K (293), 32 (39), 49 +
L (39),49 +
M (28), 42 (37S), 26/31 (33), 21/27 (39),
49 +
N (29), 41/46 (33), 32 (39), 49 +
P (39),49 +
R (39), 49 +
S (33), 15/29 (37), 47 +
FST:
Z 3?7 (31),30(36), 13,17 (41) =
Z139? (37Y) =
Z2 437 (37),19 (42) =
Z3117? (33Y1), 39 (36/37) =
Z4 12?7 3(37Y2), 20 (41), 14 (47Y3) =
7537 (36),21 (41) =
Z6 16x32x14x03? (37Y4), 20 (34), 47
(39Y5), 30 (44), 39, 29 (41), 23 (47Y6) =
JIT:
Y (23?), 25 and further as VP;
Y1 (27?), 16 (37), 3 (41/42), 13, 46/47 +
Y2 (367?), 14 +
Y3 (46?),5+
Y4 (34?), - J. Porrey & J. Mertens, “Het
Eindspel”, 1941 (1938), - 24 (39Y7Y8Y9),
25 (44Y10), 39, 26 +
Y5 (40?), 17 (45), 50 +
Y6 (46?),5 +
Y7 (40), 17 (45), 50 (37), 47 +
Y8 (37), 29, 14 (41/42Y11), 46/48 +
Y9 (36), 14 (39/40), 2433 +
Y10 (36), 48 (41), 37 +
Y11 (29), 41/46 (33), 32 (39), 49 +

37

Black: 13, 22, 2
White: K26, 6 (2)

©
w
w
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~
N

Author’s the solution as is
Unpublished

VP 48 Z (27VP1A), 1 (272),7 (37B), 4 Z1
(38a), 23,10 (24), 15 (42VP2), 47 +
VP1 (32), 1 (28), and further as VP;VP2 (43),
49 +
A (38), 1 (33C), 7 (39D), 2 (42A1), 18,47 +
Al (43), 18,48 +
a(39), 11+
B (328), 2 (18), 0230 (32), 26 (22), 25/34 (27),
25/34-48 +
C (27), 6 (282E), 34 (19FGHK), 23, 42 (31),
26 (38), 48 +
D (27), 2 (31), 26 (19), 30 +
E (33),39 (43), 22 +
F (31), 18, 06x33x42x26 (38), 48 +
G (37), 18,26 +
H (43), 48 (38), 0639 (43), 22 +
K (18), 1/7 (31L), 28, 26 +
L (43), 28 Z2 48 (31), 26 +

FST:
Z1?(39),6 Z3(33) =
Z19? (38Y), 11 Z4 (33Y1), 39 (42) =
Z2 227,48 (38) =
Z37(43/44) =
Z4 14 (32Y2), 37 (43) =

JIT:
Y (397),11 +
Y1 (327?), 27, 16 (42/43), 47/49 +
Y2 (337?), 20 (39), 47/42 (43Y3), 38, 29 (37),
47 +
Y3 (44), 40 +
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Black: K9, 18, 27, 32 (4)
White: K30, K35, 8 (3)

Author’s the solution as is

MiF /Mu® 28-09-2019

VP 3 (25 A), 48 (38 BC), 24 Z (38-43 C1), 12
(43), 17 (272 DE), 28, 19, 48 +
A(4),9,8(38FG),3(22H),2(42/43 1),
17, 47/49 +

B (31), 26 (48), 13 Z1 37 +

C (37), 9 (39), 30, 14/20 +

C1 (42), 9 (39), 30, 14/20 +

D (49), 35 (49-38), 22, 13 +

E (48), Z2 42 +

E1(31),38 +

F (37), 3(23), 13 (31), 36 (42), 18, 48 +

G (31),35-24 24 75 (317 K), 3 (23 L), 14
(28), 47 +

H (43/42), 13, 48/47 +

1 (32), Z5 26 (43 M), 17, 49 +

J (31), 26 (36), 31, 11 (32), 42 +

K (23), 17 (36 K1N), 28 (38), 19/5 (43), 38 +
K1 (317), 28 +

L (41), 13, 46 +

M (27), 30 +

N (327), 26 (36), 42/48 (41), 37 +

Z 35-307 (43/39 Y) =

Z1 35-8 (32-37), 42 (31) =

Z2 257 (26), 28 Z3 (32 Y1) =

73 17-39 (27-31), 28 (37 Y2Y3) =
Z4 35-197 (38), 26 (36), 48 (22), 19-37 (27
Y4) =

Z5 8-197 (31-37 Y5), 49 (23) =
76122 (27 YBY7) =

Y (347), 30 (42), 13, 47 +

Y1 (21?), 22, 13, 26 +

Y2 (36), 8, 28-14, 14 +

38

Y3 (12), 8, 28-14, 36 +
Y4 (422), 31, 37 +
Y5 (38?), 35-24 (43), 38, 26 +
Y6 (43?), 17, 49 +
Y7 (28?), 23, 42 +

Black: 5, 8, 18, 29, 30 (5)
White: K28, 14 (2)

Concourse “Israel-2012”, C12, 4" place,
57,66 points.

Author’s the solution as is

«H3paunv-2012» 4 mecmo

VP 23 (10 AB), 25 — NN, "Dame blanche",
1999 — Z 30 (13), 34 (22), 18 (28), 4 (33), 10
(24)

15 (29), 20 (34), 38 (39 C), 49 +

A (304), 3 (40 D), 10, 33,50 +

B (294), - A.Kuyken, 1992 - (40), 10, 45 +
CC1 (40), 33 (45), 50 +

D (10),5 (39 E), 28 (43 F), 39, 20 (33 C1), 38
(39), 49 +

E (33), 32 (349), 17 +

F (33), 25+

Z9?2(13Y YLY2) =

Y (183?), 13 (28), 2 (32), 24 (37), 47 +

Y1 (193?), 22 (29), 39 (13), 11 (19), 2 (23), 7
(28), 34/45 (32), 29 (37), 47 +

Y2 (24?), 22 (12), 13 (29), 9 (33), 3 (18 Y3), 9
(23), 14 (29), 20 (34), 38 (40 Y4), 33 (45),

50 +

Y3 (17), 21 (39), 49 +

Y4 (38), 48 +



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

#B-58

Black: 18, 23, 24, 30, 35 (5)

White: K44, 39, 48, 49 (4)
Competition ,,In memory
L.Vitoshkin“ (Memorial LS.
Vitoshkin), 2013-2014, B14,
11" place

Author’s the solution as is

MiF/ Mu® 24-05-2013, Memopuan
Bumowkuna 11 mecmo

VP 50 (249), 494 (294)Z 45, 39 (28 A), 12
(32), 26 (38), 33, 48 (294 B), 449, 25, 39, 50 +
A (34), 30, 39 (28), 12 (32)Z1 26 (38), 33, 8
(33C),30(38),48 +

B (33), 25 (38), 48 +
C (30), 35 (34 D), 44 +
D (33), 30 (38), 48 +

Z 40?, 50:28:35 (39), 49 (22 Y) =
Y (237), 42 (29), 428 (34 Y1), 35 +
Y1 (43?), 40 +

71237 (38), 37 (30 Y2) =

Y2 (297), 48 (43), 34, 45 +




World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

Category C

Bastiaannet, Johan #1-2
Bus, Jaap # 3-5
Kopylov, Evgeniy # 6-7
Lukyanov, Alligrant #8-9
Mackevicius, Rimas #10-13
Masiulis, Virmantas #14-17
Moiseyev, Alex #18
Nych, Anatoly #19-20
. Nyrov, Arsen #21-23

. SioZinys, Jonas #24-25

. Trofimenko, Viacheslav #26-28

. Sabater, Michel #29

. Shulga, Victor #30-32

. Tiemens, Gerard #33-35

. Tsvetov, Mikhail #36-38




or 49 (37), and then 19/47 +

d (31), 44/50 (37), 32, 6/22 (24), 15 (41), 28 +
e (23), 25 (29), 24 (41), 14 (46), 5/41 +

f (40), 49 (29), 24 +

g (40), 2433, 35 (37), 19 or 49 etc. +

h (37), 1% win 31, 36 (32), 3 (33), 18, 40/45 +
2" win 26 (39h,), 31, 25 or 36 +

h (40), 31, 33, 35 (32), 24 (37), 47 +

or 33, 35 (41), 37, 24 (37), 47 +

j (33), 48z +

z 437 (3338) =

Black: 13, 19, 21, 23, 25, 34, 36 (7)
White: K11, K42, K47 (3)

Author’s the solution as is

VP 7 (18Aa), 2 (30), 35 (27B), 20 (32CDE), 14
(28F), 3524 (39Gb), 9 (23H), 31, 36 (38¢), 32,
47 +

A (29), 15 (39), 16 (26), 4 (41d), 44/50 (46), 6
(249), 20, 21,5 +

B (28), 26 (27), 17 (2732¢), 30 (38), 1/12 (41),
24 (47), 1/1229 +

C (31), 3 (29f), 24 (23K), 19, 26 (41), 37, 24 , 2 , 2 2
2,00, 24 (231, 19,26 (4 % U W Y Y

D (39), 14 (29Fy), 15 (23L), 44/50 (41), 28 (46), Black:K15, 10, 27, 30, 31, 33, 35 (7)
1524 + White: K1, K3, K8, K13 (4)

E (28), 14 (23), 3524 (31M), 5 (37Ng), 2419, 46

(39), 33 + Author’s the solution as is

F (39), 41 (43), 15, 3524, 49 + VP 20 (29a), 25 (14ABbc), 9 (32CD), 36
F1(32), 41 (43), 15, 3524, 49 + (3338E), 25 (40F), 35 (44Ey), 49 (42), 27 (47), 4
G (23), 2442 (400Ph), 33, 35 (38g), 15 (41), (33), 20, 47 +

19 + A (36), 31, 14, 16/21 (40), 11/17 (45), 50 +

H (41), 25/30 (46), 41 (37), 33 + B (39), 16 (40), 36 (44), 17/22 (50), 3122/8-17
J (4623), 24, 21,35 + (45), 50 (23), 7, 45 +

K (41), 29,13, 46 + C (36), 31, 31 (39G), 48 (44), 4830, 49 +

L (43), 41, 3524, 49 (31), 32 + D (38), 22, 49 (37), 26 (41), 37, 16/27 (40),

M (39), 30 (44), 39, 31, 16/21 + 11/22 (45), 50 +

N (39), 30 (44), 39, 1/18 + E (40), 35 (45H), 25 (3338J), 27, 40, 16 +

O (39), 31, 36 (38)), 32, 41/46 + E, (45), 27, 40, 16 +

P (29), 15/24 (39), 15/2438, 49 + F (37), 24 (3742KL), 47 (48M), 29 (40N), 45
a (28), 40/45 (32ay), 34 (27ay), 26 (24), 15 (41), (37), 42, 4534 +

47 (30a3), 419, 27 + G (40), 17 (38), 48 (45), 50 +

a1 (27), 37 (2732), 23, 46 (23), 2/8 + H (3338), 44 (42d), 47 (48), 25 (26), 42, 44309,
a (26), 43 (41), 4 (37), 31, 10 + 16/27 +

as (46), 41, 42/48 (31), 26 (38), 39 or 3448 + J(39), 27 (30), 44 +

b (22), 25 (40), 33, 45 + K (3842), 47 (41), 24 (46), 41 +

or 13 (27), 31, 36 (37), 25/30 (42), 37 + L (40), 31 (45), 27/39 (50), 39/27 +

C (44), 50 (37), 47 (29), 15 (41), 28 + M (40), 35 (45), 40, 26/31 (43), 38 +



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

N (26), 12 +

a (24), 2, 26 (32), 42 (14), 7/18 +
b (15), 17 (38), 24 (36), 47 +

¢ (32), 36 (3338), 14, 42 (40), 22 (45), 50 +

or 47 (40), 22 (45), 6 (50), 4733, 33 (37), 47 +
d (43), 39, 9-22 (38), 3627 (42), 38 +

or 47 (40dy), 22 (45), 6 (50), 4733 (28), 33 (37),
47 +

ds (39), 25 (44), 39, 15/29 (37), 47 +

Black: 1, 7, 15, 17, 33 (5)
White: K13, K40 (2)

VP Z 40-35 (20), Z1 8 (22 A), 49 (28 BCD), 43
(24 E), 30 (39), 34 (12), 7, 25 (33), 3 (18), 9
(23), 14 (29), 20 (34), 38 (40), 33 (45), 50 +

A (12), 2 (21), 35-30 (17), 48 (26), 16 (25), 2
(31), 3 (30), 35 (38), 2 (43), 7 12, 49 +

B (25), 2 (12), 7 (17), 34 (7), 1 (39 F), 6 (30), 40
(35), 23 (43), 28 (33), 48, 39 (45), 50 +

C (11), 43 (16), 13 (27), 31 (21), 16 (7), 2 (39),
18 (43), 24, 48 +

D (11), 43 (27), 2 (38), 26 (43), 7, 48 +

E (25), Z2 3 (32), 2 (30), 35 (38), 2 (43), 7 (12),
49 +

F (27), 3 (38), 29 (43), 20, 48 +

Z 49 (20), 8 (12), 3 (25), 27 (18), 21 (39), 13
(44), 49 (50) =

Z1 30 (24), 19 (39), 35 (43), 49 (48) =

72 8-21 (11), 21-27 (17), 48 (22), 4 (32), 15 (32-
38), 34 (7), 1 (39), 42 (43), 48 (49) =

Author’s the solution as is

1. 40-35 15-20 2. 13-8 17-22 3. 35-49 22-28. 4.
49-43 20-24 5. 8x30 33-39 6. 43x34 7-12 7.
34x7 1x12 8. 30-25 28-33 9. 25-3 12-18 10. 3-9

-42 -

18-23 11. 9-14 23-29 12. 14-20 29-34 13. 20x38
34-40 14. 38-33 40-45 15. 33-50 w +

1. 40-35 15-20 2. 13-8 17-22 3. 35-49 20-25 4.
8-2 7-12 5. 2-7 12-17 6. 7-34 1-7 7. 34x1 33-39
8. 1-6 25-30 9. 49-40 30-35 10. 40-23 39-43 11.
23-28 22x33 12. 6x48 35-40 13. 48-39 40-45 14.
39-50 w +

1. 40-35 15-20 2. 13-8 7-12 3. 8-2 17-21 4. 35-
30 12-17 5. 30-48 21-26 6. 2-16 20-25 7. 16-2
26-31. 8. 48x3 25-30 9. 2x35 33-38 10. 35-2 38-
43 11. 2-7 1x12 12. 3x49 w +

1. 40-35 15-20 2. 13-8 17-22 3. 35-49 20-25. 4.
8-2 7-12 5. 2-7 12-17 6. 7-34 1-7 7. 34x1 22-27
8. 49x3 33-38 9. 1-29 38-43 10. 29-20 25x14 11.
3x48 w +

1. 40-35 15-20 2. 13-8 17-22 3. 35-49 7-11 4.
49-43 11-16 5. 8-13 22-27 6. 13x31 16-21. 7.
43x16 1-7 8. 16x2 33-39 9. 31-18 39-43 10. 2-24
20x29 11. 18x48 w

1. 40-35 15-20 2. 13-8 17-22 3. 35-49 22-28 4.
49-43 20-25 5. 8-3 28-32 6. 43x2 25-30 7. 2x35
33-38 8. 35-2 38-43 9. 2-7 1x12 10. 3x49 w +
1.40-35 15-20 2. 13-8 17-22 3. 35-49 7-11 4. 49-
43 22-27 5. 43x2 33-38 6. 8-26 38-43 7. 2-7
1x12 8. 26x48 w +

False Solution 1

Starting at root White: K 13, K 40 Black: 1, 7,
15,17, 33

Position: White: K 13, K 40 Black: 1, 7, 15, 17,
33

False Solution:

1. 40-49 15-20 2. 13-8 7-12 3. 8-3 20-25 4. 49-
27 12-18 5. 3x21 33-39 6. 27x13 39-44 7. 21-49
44-50 =

False Solution 2

After 1. 40-35 15-20 2. 13-8 17-22 3. 35-49 22-
28 4. 49-43 20-25

Position: White K8, K43 Black B1, 7, 25, 28, 33
False Solution:

1.8-217-11 2. 21-27 11-17 3. 43-48 17-22 4.
27x4 28-32 5. 4-15 32-38 6. 48-34 1-7 7. 34x1
33-39 8. 15x42 39-43 9. 42-48 43-49 =

False Solution 3

After 1. 40-35 15-20

Position White K13, K35 Black 1, 7, 17, 20, 33
False Solution:

1. 35-30 20-24 2. 30x19 33-39 3. 19-35 39-43 4.
35-49 43-48 =
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Black: 1, 2, 17, 29, 33 (5)
White: K15, K47 (2)

VP 42 (2-7 A), 48 (6 B), 43 Z (12 C), Z1 30
(11), 35 (18 D), 19 (34), 38 (40), 35 (45), 40
(34), 16 (18-22), 40 (28), 49 (33), 43 (22), 16
(39), 11 (44), 50 +

A (8), 48 (12), 30 (7), 10 (18), 14 (38), 2 (12), 25
(33), 48 (18-22 E), 35 (39), 1 (27), 2 (43), 12, 48
(31),26 +

B (12), 30 (7), 10 (18), 14 (38), 2 (12), 25 (33),
48 (21), 35 (39), 25 (42), 13,48 +

C (6-11), 39, 50 (21), 6 (11), 26 +

D (22), 35-24, 16 (39), 11 (43), 48 +

E (38-42), 9 (39), 3 (44), 11, 50 +

Z 20 (21), 30 (26), 2 (6-11), 35 (31), 44 (36), 6
(11, 41), 19 (47), 15 (36), 10 (47) =

Z1 48 (11), 20 (16), 30 (17-21), 13 Z2 (34), 47
(17), 33 (22), 26 (39), 27 (44), 22 (50), 6 (45), 1
(50) =

Z2 35 (27), 25 (18), 44 (38), 33 (43) =

Author’s the solution as is

1.47-42 2-7T A 2. 42-48 1-6 C. 3. 48-43 7-12 E.
4. 43-30 6-11 5. 30-35 12-18 D. 6. 35-19 29-34
7. 15x38 34-40 8. 19-35 40-45 9. 35-40 45x34
10. 38-16 18-22 11. 16x40 22-28 12. 40-49 28-
33 13.49-43 17-22 14. 43-16 33-39 15. 16-11
39-44 16. 11x50 *

A.1.2-82.42-48 8-12 3. 48-30 1-7 4. 15-10 12-
18 5. 10-14 33-38 6. 30-2 7-12 7. 14-25 29-33 8.
25-48 18-22 B. 9. 2-35 33-39 10. 48x1 22-27 11.
35-2 38-43 12. 1-12 17x8 13. 2x48 27-31 14.
48x26 *

B. 8.38-42 9. 48x9 33-39 10. 9-3 39-44 11. 2-11
17x6 12. 3x50 6-11 13. 50x6*
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C.2.7-12 3. 48-30 1-7 4. 15-10 12-18 5. 10-14
33-38 6. 30-2 7-12 7. 14-25 29-33 8. 25-48 17-
21 9. 2-35 33-39 10. 48x25 38-42 11. 35-13
18x9 12. 25x48 *

D. 5.17-22 6. 35-24 29x20 7. 15x16 33-39 8. 16-
11 39-43 9. 11x48 *

E. 3. 6-11 4. 43-39 33x44 5. 15x50 17-21 6.
50x6 7-11 7. 6x26 *

False Solution 1

After 1. 47-42 2-7 2. 42-48 1-6 3. 48-43 7-12
Position White K15, K43 Black 6, 12, 17, 29, 33
False Solution: 1. 43-48 6-11 2. 15-20 11-16 3.
48-30 17-21 4. 30-13 29-34 5. 20x47 12-17 6.
47-33 17-22 7. 33x26 34-39 8. 13-27 39-44 9.
27-22 44-50 10. 22-6 50-45 11. 6-1 45-50 =
False Solution 2

After 1. 47-42 2-7 2. 42-48 1-6"]

Position White K15, K48 Black 6, 7, 17, 29, 33
Position White K15, K 48 Black 6, 7, 29, 33
False Solution : 1. 15-20 17-21 2. 48-30 21-26 3.
30-2 6-11 4. 2-35 26-31 5. 35-44 31-36 6. 44x6
7-11 7.6 x 24 36-41 8. 24-19 41-47 9.20-15 47-
36 10.15-4 36-47 =

False Solution 3

After 1. 47-42 2-7 2. 42-48 1-6 3. 48-43 7-12
Position White K15, K43 Black 6, 12, 17, 29, 33
False Solution : 1. 43-48 6-11 2. 15-20 11-16 3.
48-30 17-21 4. 30-35 21-27 5. 20-25 12-18 6.
35-44 33-38 7. 44-33 38-43 =

Black: 3, 17, 18, 26, 29 (5)
White: K5, K14 (2)

VP 25 (33ABC), 48 (17-22), 43 (8 D), 10 Z
(31), 15 (36), 42 (13 E), 32 (23), 2 (41), 37 (32),
11 (27), 16 (31), 38 (37), 47 +

A (9), 21, 23 (18-22), 40 (28), 49 (33), 43 (22),
16 (39), 11 (44), 50 +



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

B (17-22), 37 Z1 (27), 42 (32), 15 (31), 10 (31-
37), 43 (9), 4 (42), 37, 36 +

C (18-22), 48 (33), 19 (27), 42 (26-31), 12 (39),
19-8 (43), 1, 48 (31), 26 +

D (9), 16 Z2 (28), 32 (31), 32-27, 7 (39), 43
(28), 38 (33), 3 +

E (23), 31, 3 (29 F), 9 (28), 14 (28-33), 20 (34),
38 (40), 33 (45), 50 +

F (27), 9 (32), 20 (37), 14 (42), 48 +

Z 16 (39), 2 (12), 11 (23), 3 (43), 25 (49) =
7130 (31), 2 (36), 11 (27), 16 (31) =

72 37 (27), 16 (39), 49 (14), 10 (31), 14 (36),
14-32 (22), 46 (27), 21 (44), 49 (50) =

Author’s the solution as is

1. 14-25 29-33 2. 25-48 17-22 3. 48-43 3-8 4. 5-
10 26-31 5. 10-15 31-36 6. 15x42 8-13 7. 43-32
18-23 8. 32x2 36-41 9. 42-37 41x32 10. 2-11 22-
27 11. 11-16 27-31 12. 16x38 31-37 13. 38-47
37-41 14. 47x36 w +

1. 14-25 29-33 2. 25-48 17-22 3. 48-43 3-8 4. 5-
10 26-31 5. 10-15 31-36 6. 15x42 18-23 7. 42-31
36x27 8. 43x3 23-29 9. 3-9 22-28 10. 9-14 28-33
11. 14-20 29-34 12. 20x38 34-40 13. 38-33 40-
4514, 33-50 w +

1. 14-25 29-33 2. 25-48 17-22 3. 48-43 3-8 4. 5-
10 26-31 5. 10-15 31-36 6. 15x42 18-23 7. 42-31
36x27 8. 43x3 22-27 9. 3-9 27-32 10. 9-20 32-37
11. 20-14 37-42 12. 14x48 w +

1. 14-25 29-33 2. 25-48 17-22 3. 48-43 3-9 4.
43-16 22-28 5. 5x32 26-31 6. 32-27 31x22 7. 16-
7 33-39 8. 7x43 22-28 9. 43-38 28-33 10. 38x3
w +

1. 14-25 3-9 2. 25x21 26x17 3. 5-23 18-22 4.
23x40 22-28 5. 40-49 28-33 6. 49-43 17-22 7.
43-16 33-39 8. 16-11 39-44 9. 11x50 w +

1. 14-25 17-22 2. 5-37 22-27 3. 37-42 27-32 4.
42x15 26-31 5. 15-10 31-37 6. 25-43 3-9 7. 43x4
37-42 8. 10-37 42x31 9. 4x36 W +

1. 14-25 18-22 2. 25-48 29-33 3. 5-19 22-27 4.
48-42 26-31 5. 42x12 33-39 6. 19-8 39-43 7. 12-
1 3x12 8. 1x48 27-31 9. 48x26 w +

False Solution 1

Starting at 1. 14-25 17-22

Position: White K5, K 25 Black 3, 18, 22, 26, 29
False Solution :

1.25-30 26-31 2.30-2 31-36 3. 2-11 22-27 4.11-
16 27-31 =

False Solution 2

Starting at: 1. 14-25 29-33 2. 25-48 17-22 3. 48-
43 3-8

-44 -

1.14-25 29-33 2. 25-48 17-22 3. 48-43 3-8
Position: White K5, K43 Black 8, 18, 22, 26, 33
False Solution:

1. 43-16 33-39 2. 16-2 8-12 3. 2-11 18-23 4. 5 x
339-435.3-2543-49 =

False Solution 3:

Starting at: at 1. 14-25 29-33 2. 25-48 17-22 3.
48-43 3-9

Position: White K5, K 43 Black 9, 18, 22, 26, 33
False Solution:

1. 5-37 22-27 2. 43x16 33-39 3. 16-49 9-14 4.
37x10 26-31 5. 10-14 31-36 6. 14-32 18-22 7.
32-46 22-27 8. 49x21 39-44 9. 21-49 44-50 =

Black: 30, 36, 39 (3)
White: K4, K5, K41 (3)

VP z 47 (44 A), 31, 32, 49 +
A (41), 36 (43), 36-22 (48), 37 (9), 35 +
228 (41) =

Black: 16, 23, 27, 29, 33, 36 (6)
White: K30, K40, K45 (3)
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VP 40-35 (28 A), 21, 19 (38 B), 35-24 (43), 38,

Z46 +

A (39), 21, 19, 10/5 +
B (39),49 +
Z37(31) =

Black: 2, 3, 6, 9, 34, 40 (6)
White: K16, K45 (2)

Author’s the solution as is
VYyacTHua 4eM. MHUpa

VP 49 (7TAB), 35 (39), 1 (8C), 2 (43DE), 13,

48 +

A (13), 8 (12F), 1 +

B (2-8), 2 (39), 1 (11G), 16 (44), 40 (35), 7 +
C (43), 13-8, 48 +

D (44), 13, 49 +

E (11), 16 (44), 40, (35), 7 +

F (13), 4 +

Black: 6, 25, 29, 33, 39 (5)
White: K3, K35 (2)

Author’s the solution as is
Yuactauna uem.Poccun
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VP 12 (34), 45 (30ABC), 38 (44), 40 (35), Z 49
(11), 44 (16), 49 +

A (43),30(34),49 +

B (38), 34 (30), 42/47 (30), 33 (34D), 44 +

C (11), 45-40 Wcaes 777 Anr. (43EFG), 29
(24), 35:49 +

D (35), 44 +

E (38), 34 (30), 35 +

F (16), 34 (30), 38 (30), 43 (35), 49 +

G (17), Z1 2 Jlemunos (21HIKL), 29 (24), 2:16
(30), 43 (35), 49 +

H (43), 12 (8), 49 +

1(38),12 +

K (30), 35 (43M), 29 (24), 49 +

L (22), 2-35 (43NO), 29 (24), 49 +

M (38), 39 +

N (27), 34 (30), 35:21/16 +

O (28), 8-2 (43), 23 (19), 49 +

Z [there is no data in the author's solution ]

Z1 [there is no data in the author's solution]

Black. 22, 27, 28, 29, 33 (5)
White: K11, K15 (2)

Author’s the solution as is
MIF / MA® munusTioas: 2016-09-30
http://minietiud.forum?2x2.ru/t458-

topic#53873
VP 10 (272A), 16 (27BC), 11 (31D), 22-

V.Masiulis, 2003, -34 (38), 48 +

A (34), 16 (349), 28, 11 (43/44E), 48/50 +
B (37), 41/46 (39), 23, 7 +

C (338), 4 (27 F1), 31 (283FG), 31-27, 43 +
D (34), 23-V.Masiulis, 2003-31 (38), 48 +

E (27), 44/50 (32), 33 (37), 47 +

F (293), 31-27, 43 +
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F1(283), 27, 43 +
G (34), 31-27, 25/30 (32), 20/24 (37), 47 +

Black: 18,
White: K2, K10 (2)

Author’s the solution as is

MIF / MU® Munndtiogs 2016-10-01
http://minietiud.forum2x2.ru/t458-
topic#53902

VP 11 (22AB), 16 (27C), 11 (317DE), 15 (31),
Z3 3 (36), 33-28, 46 +

A (317), 15 (23, 23), 10 (41/42F), 46/48 +

B (25), 39 (317), Z1 43 (30G), 35 (42), 37 +
C (36), 15 (27), 16/21, 32 +

D (25), 39 Z2 (317), 43 (31H), 36 (42), 37 +
E (36), 15 (31), 26, 37 +

F (29), 41/46 (33), 32 (39), 49 +

G (22), 4/18 (42), 37, 36 +

H (30), 25 (38), 41/46 (42), 37, 14 Z3 +

Z 477 (36), 5 (361Y), 36 (38), 46 (43Y1) =
Y (38?), 46 (43), 38 +

Y1 (42?),37 +

71487 (38), 4 (43Y2) =

Y2 (42), 37, 36 +

72 33? (317), 4 (31), 36 (30), 36-47 (34Y3), 44
(38 Y4 Y5) =

Y3 (357), 29 (40), 45 (38), 15 (41), 23 +

Y4 (407), 35 (38), 15 (41), 19 +

Y5 (417), 36 (37Y6), 47 +

Y6 (38), 27 (42), 38 +

73 48? (36Y7), 37 (31, 41) =
Y7 (327), 26 (38), 48 +

#C-12

“Black: 18, 22, 23, 29, 33 (5)
White: K15, K45(2)

Author’s the solution as is

MIF / MHU® munmdtionsr 2016-08-22
http://minietiud.forum2x2.ru/t458-
topic#52742

VP 40 (27), 35 (22A), 35-24, 16 (29), 7 (33), 16
(39B), 11 (43/44C), 48/50 +

A (31), 35-24, 26 (28), 3 (33D), 9 (23), 14 (29),
20 (34), 38 (39E), 49 +

B (28), 43 +

C (27), 44/50 (32), 33 (37), 47 +

D (32), 9 (23), 20 (37F), 14 (41/42G), 46/48 +
E (40), 33 (45), 50 +

F (28), 42 +

G (29), 41/46 (33), 32 (39), 49 +

#C-13

Black: 22, 23, 25, 28, 31 (5)
White: K16, K35 (2)
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Author’s the solution as is
http://minietiud.forum?2x2.ru/t458-
topic#53839 MIF / MU® munusTIONBI 2016-
09-27

VP 40 (27A), Z 12 (282), Z1 8 (317BB1), 13
(31), 38 (30C), Z236 (34), Z3 36-47 (40 DE), 33
(45), 50 +

A (36),31 +

B (30), 35 (36), 19 (31), 26, 37 +

B1 (36), 19 (31), 26 (41), 37 +

C (36), 19 (361), 38-32, 46 +

D (39), 49 +

E (42), 29 +

Z 182 (282'Y), 23 (317), 18 (31), 38 (36), 47
(361 Y4 Y5), 36 (42) =

Y (272?), 38 (37 Y1), 47 (33), 15 (41), 23 (47),
239 +

Y1 (36), 47 (30), 18-29 (35), 34 (32 Y2), 23
(40), 45 (37), 23 (361, 42), 37 +

Y2 (33), 15 (41 Y3), 30, 36 +

Y3 (40), 45, 23 +

Y4 (371?), 31 +

Y5 (307), 23 (34), 46 (39), 33 +

7137 (30 Y6), 14 (371), 9 (31), 25 (42Y7) =
Y6 (317?), 9 (31), 38 (36), 14 (361), 38-32, 46 +
Y7 (367), 25-14 (361 Y8), 31, 46 +

Y8 (42), 37, 14 +

72 357 (41Y9) =

Y9 (367), 19 (361), 38-32, 46 +

73 38-47? (39 Y10 Y11) =

Y10 (417), 29 +

Y11 (40?), 22 (45), 50 +

i

W

Black:

6, 23, 24, 28, 35 (5)
hite: K4, K 49 (2)

é
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Contest ,,Vilnius - 2017 A02, 1st place, 75,75
points. First publication: 2017-01-28 in blog
http://mavir2.blogas.|t
URL http://mavir2.blogas.lt/nauji-etiudai-2-
543.html

Author’s the solution as is

VP 44 (30Aab), Z 17 (40), 10 (29B), 15 (294),
15-33 (45), 50 (35C), 21 (39DEF), 17 (50), 16, 7
(11), 16 (40), 11 (45), 50 +

A (239), 22/17 (40), Z1 4-13 (45), 35 (50G), 40
(11), 16 +

B (45), 32 (50), 16, 35 +

C (40), 8 (35H), 2 (44), 17 (50), 16, 7 (11), 16
(40), 11 (45), 50 +

D (350), 21-17 (44), 30 (50), 2, 16 +

E (340), 16 (44), 39/22 (50), 17, 7 (11), 16 (40),
11 (45), 50 +

F (11), 6 (350J), 21-17 (50), 22/33, 35 (39), 49 +
G (34), 50 (39K), 17 (50), 2, 16 +

H (34), 8-17 (44), 30 (50), 2, 16 +

J (50), 21-17, 25 (40), 39 (45), 50 +

K (11), 6 (50), 35-44 (33), 30/25 +

Z 22 (40), 50 (45), 10 (29), 10-28 (35Y), 28-44
(34), 49 (11), 6 (50), 494 (39Y1), 44 (340), 28
(45), 50 (40), 28 (50) =

Y (294), 17 (40), 8 (35), 2 (44), 17 (50), 16, 7
(11), 16 (40), 11 (45), 50 +

Y1 (28), 25 (40), 39 (45), 50 +

Z1.15 (45), 50 (11Y2), 6 (50) =

Y2 (34), 40, 44 +

a (32), 10 (28), Z2 22 (38), 15 +

Z2 17 (38), 15 (11), 42, 31 (28), 37 (33), 42
(39), 48 (44) =

b (249), Z3 17 (40), 10/15 (45), 32/38 (11), 6
(50), 32-28/38-33 +

Z3 22 (40), 50 (33Y3) =

Y3 (45), 10 (28), 32 (11Y4), 6 (50), 32-28 +
Y4 (33), 17 (50), 16 +
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Black: 6, 16, 19, 23, 28, 29 (6)
White: K34, K49 (2)
Contest ,,Vilnius - 2017« A01, 2nd
place, 68,875 points

Author’s the solution as is

VP Z 34-40 (24A), 43 (30B), 25 (293), 18
(38C), 48 (21), 36 (11DE), 47 (33), 39, 50 (27),
6 (32), 33 (37), 47 +

A (283), 43 (11FG), 48 (21), 35 (17), 2 (27), Z1
35 (34H), 25 (31), 19 +

B (293), 18 (21), 16 (39), 49 (32), 16 (44), 22
(509), 17, 30/35 +

C (32), 43 (338K), 49 (42L), 21, 48 +

D (33), 22 (26), 39 (43), 11, 11/6 +

E (26), 4 (11), 15 (33), 34 (31), 34-29, 26 +
F (21), 16 (11M), 35 (38), 34 +

G (39), 13 (33), 18 (38N), 27 (42), 21, 48 +
H (38), 34 +

J (49), 22-27, 20/15 +

K (37), 21, 29/15 +

L (21), 23 (27), 37 (32), 28/5 (42), 37,32 +
M (28), 14/5 (39), 32 (440), 28 (50P), 17 +
N (39), 34,35 +

O (11), 7 (44), 40 +

P (49), 28-32 +

Z 343 (293Y), 40 (32Y1), 27 (39), 18 (44), 49
(50) =

Y (283), 40... A variation

Y1 (24), 18... B variation

Z1 25 (21), 35 (32Y2), 34, 37 (29), 32 (26), 38
(34) =

Y2 (28), 40 (39), 32, 16 +

Legality: 25-34 (249)
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)

Black: 14, 17, 23, 24, 27, 28 (6)
White: K37, K41 (2)

Author’s the solution as is

MIF / MU®, 2019-01-05
http://minietiud.forum2x2.ru/t1465p25-topic
VP 48 (19ABC), 47 (239DE), 30, 23 +

A (272), 47 (239F), Z 34, 35 (32G), 24 (37),
47 +

B (22), 43 (30Ha), 9 (283), Z1 19/10/5 (39),
32+

C (20), 47 (221), 25 (249), 15 (31), 10 (36), 34
(33), 27 (39), 49 +

D (282), 20 (21), 20-25 (26J), 25-43 (28), 49
(23), 49-43 (29), 38, 16 +

E (21), 20 (26), 38 (271K), 21, 24/29 +

F (19), 20/15 (21), 38, 48x39x26 (24), 8 +

G (33),30(38), 48 +

H (249), Z2, 16 (283), 10/5 (39), 23, 7 +

1 (21), Z3, 26 (3LLMN), 39 (360), 25 (239), 14
(34), 20/15 (40), 33 (45), 50 +

J (24), 14 (28), 39 (30), 36 (34), 41/46 (39), 27 +
K (282), 38-43/49 (24), 38, 16 +

L (272), 39 (239), 41 (38), 23, 25 +

M (282), 34 (37), 25 (32), 14 (30), 23 (34),
40/45 (38), 15 (41), 23 (47), 23-29 +

N (239), 39 (25), 48 (32P), 38, 23/1 +

0 (239), 36 (37R), 28 (42), 37, 34/45 +

P (31), 26 (34), 15 (39), 48 (44), 39 +

R (33), 35,49 +

a (31), 36 (27), Z4 21 (37), 18 or 26 +

Z 25 (21Y), 26 (283Y1), 41 (328), 31 (30Y2),
28, 25 (42) =

7114 (38), 32 (42) =

Z2 21 (283), 10 (39), 49 (27), 16 (44), 28
(50Y3) =

Z3 25 (26Y4), 36 (30) =
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Z4 16 (37), 21 (239), 26 (41Y5), 47 (283), 12
(38), 34 (43), 9 (49Y6) =

Y (19), 20, 38 +

Y1 (34), 15 (40), 17 (45Y7), 50 (37), 47 +
Y2 (39), 23 +

Y3 (49), 28-32 +

Y4 (272), 26 (239), 41 (293), 31 (338Y8), 46
(30), 317, 25 (32), 20 (37), 47 +

Y5 (32), 48 (33), 37 +

Y6 (48), 9-25 +

Y7 (37), 35 (41), 19 (47), 19-24 +

Y8 (29), 46 (338), 26 (43), 26-37, 48 +

Black: 13, 16, 18, 29, 33 (5)
White: K5, K43 (2)

Author’s the solution as is

MIF / MA®, 2018-05-27
http://minietiud.forum2x2.ru/t1465p100-topic
Z 7172 VP 10 (22A), 4 (18), 9 (21), 16 (39B),
49 (34), 4 (40), 35 (43), 35-13, 49 +

A (21), 16 (39), 27 (33CD), 19, 43 +

B (34), 49 (40), 35 (38), 3 (42/43), 13, 47/48 +
C (34), 4 (40E), 22, 35 (32), 24 (37), 47 +

D (44), 19,49 +

E (44), 22, 21/16 +

Z 14 (22Y), 28 (27) =

7137 (22Y1), 31 (18), 36 (21), 16 (39Y2), 11
(33), 28 (22) =

Z2 41 (21Y3), 16 (39), 28 (23), 8 (44) =

Y (21), 16 (39), 3 (44), 12, 50 +

Y1 (21), 16 (39), 26 (44Y4), 12, 50 +

Y2 (34), 16-27 +

Y3 (22), 36 (18), 31 (21), 16 (39), 26 (44Y5Y6),
17,49 +

Y4 (23), 2 (18), 3 (34), 13 +

Y5 (28), 32 +

- 49 -

Y6 (23), 27, 25 +

Black: 6, 9, 10, 13, 21, 23, 29 (7)
White: K36, K39 (2)
Concourse “Israel-2012”, C28,
1% place, 78,33 points.

Author’s the solution as is
Participated in MK “Israel-2012”
VP 41 (26 A), 3 (15 BC), 48 (33), 17 (38), 22
(11), 4 (17), 36 (21), 47 (31), 8 (43), 20, 48 +
A (27),3(11),6 (34 D), 25 (40), 43 (45E), 21
(50), 21-17,15 +
B (31), 11 +
C(11),6 (31 F),22(15G), 36 (33),4 (39 H), 13
(43/44), 20, 48/49 +
D (32), 21 (37),32 +
E (31), 27 +
F (34), 21 +
G (34), 15 — J. Bastiannet - (39 1JK), 25 (44 L),
39, 26 +
H (38), 20,15 +
I (40), 17 (45), 50 (37), 47 +
J (37),29,14 +
K (36), 14 (39), 33 +
L (36), 48 (41), 37 +



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

#C-19

@ i

Black: K48, 27, 42 (3)
White: K17, K21, K32, K37 (4)

Author’s the solution as is

VP 3(38A,B),43(25C), 48 +
A (31), 25 (38 D), 43, 26 +

B (16), 25, 32-43, 26 +

C (31), 03-25, 26 +

D (16), 32-43, 26 +

Legality

(18-22), 16-07 (22:42), 46-37 (01:48) —
AuarpaMma

#C-20

Black: 20, 21, 43, 45 (4)
White: K15, K24, K29 (3)

VP 40 (29A), 49 Z, 16 (39), 49 +
A (34), 38, 16 (40), 11 (45), 50 +
Z 16, 49 (39) =

#C-21

Black: 6, 7, 24, 27, 30 (5)
White: K26, K28 (2)
Contest ,,Vilnius - 2017« A07, 7th
place56,25 points

Author’s the solution as is

VP 44 (611 A, B, C), 6 (34), 8 (29 D), 2 (12 E),
16 (31), 27, 25 (33 F), 3 (18), 9 (23), 14 (29 G),
20 (34),38 (39 H), 49 +

A (34), 49 (611), 16 (29), 26-21 (293 1), 12, 38

(39),49 +

B (711), 40 (35), 8, 7/2 +

C(12),3(31),11 +

D (30), 35 (32), 49 (39), 2 (43), 39 +

E (31), 16 (40), 27, 35 (34 J), 44 +

F (17), 3 (34), 21 (40), 17,50 +

G (28), 32 (39), 49 +

H (40), 33,50 +

| (40), 12, 45 +

J (33), 30 (38), 48 +




World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

Black: 16, 18, 23, 32, 37, 38 (6)
White: K3, K49 (2)
Contest ,,Vilnius - 2017¢ A0S,
3" place, 65,25 points

Author’s the solution as is

VP9 (372 A, B), 48 (28 C), 39 (42), 21, 48 +

A (21), 29, 16 (39 D), 49 +

B (382), 47 (29), 15 (21), 16 (41), 32 (47), 32-
38 +

C (21), 35(28), 24 (33 E), 19 (26), 37 (42), 28 +
D (40), 11, 50 +

E (26), 42 (33 F), 29/24/20/15 (37, 37), 47 +

F (37, 37), 26/31 (33), 21/27 (39), 49 +

-
/% /7
T % 7
//// /// /// /////
% % W Y W
Black: 15, 19, 20, 24, 26, 33, 38 (7)
White: K8, K13, K34 (3)

VP 25 (31), 26 (20 A), 30 (24), 13 (43 B), 26-12
(49C), 40,2 +

A (30), 35 (43), 49 (48 D), 19 (25), 43, 37 +

B (39), 35 (393 E), 48 (42 F), 26 (48 G), 3 (39),
30, 48 +

C (39), 27 (49), 3 +

-51-

D (39), 27 (44), 8-17 (49 H), 26-21 (40), 44,
16 +

E (383), 49 (44 J), 35 (48), 3 (29), 30, 48 +
F (49), 2 (43), 39~25 (32), 43, 16 +

G (49), 2 (32), 21, 49 +

H (50), 27-22 (45), 18 +

J (48), 3 (43), 38~16 (34), 43, 25 +

Black: 10, 19, 29, 32, 37, 44 (6)
White: K41, K9 (2)

Author’s the solution as is

Planetka / Ilimanera 11-09-2019

VP 27 (21A), 16 (23), 32 (29), 5 (33), 32 (39),
49 +

A (46),5 +
JlerajabHoCTh
(35x44)...

[Legality] (30-35), 46-41

Black:K14, 19, 23, 31, 32 (5)
White: K5, K10, K39 (3)

Author’s the solution as is
MIF / MA® Drroasl 2019-09-21



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

VP 25 (3A), 10-14 (3:20B), 36 (28, 19), 4 (23C), | B (1), 12 +

15 (37D), 10 (41E), 46 + C (20), 25, 5-14 +
A (317), 3/9 (28), 23, 28, 14 (41/42), 46/48 + D (31), 10, 13 +
B (10), 26 + E (48), 30, 5-14 +
C (24), 10 (38E1), 15 (42/43), 47/49 +
D (28), 42 +

E (29), 41/46 (33), 32 (39), 49 +

E1 (29), 37/46 (33), 32 (39), 49 +

#C-26

Black: , 39 (4)
White: K12, K40 (2)
Contest ,,Vilnius - 2017% A05,
12" place, 33,25 points

Black: 26, 29, 30, 35 (4)
White: K50, K2 (2) Author’s the solution as is

ETion npuiiMaB y4yacTb y Mi>KHapogHOMY

40 + KOHKYpci “BinbHioc-2017”

VP 45 @38 16 G18) 49 @), 454 VP 35 (1o 5o 28

B (39), 50 (40), 6 (31D), 27 + g‘ (ig)’ fg 23 525)' 48 +

C (39), 50 (34E), 36 (39), 22 + 2 (38)’ i

D (45), 27 (50), 27-22 + z 2313, o I

E (40), 49:36 (43), 39 + !
(40), 49:36 (43), 39 E (43/44), 29, 48/49 +

Ty F(38), 21 +

Black: K12, 15, 29 (3)
White: K19, K14, K5 (3)

Black: 1, 3, 9, 27, 28, 31, 32 (7)

] White: K2, K5, K36 (3)

XFZ138§2§§§)’1§9+8 (42CDE), 23, 13, 47 + VP 2-11 (28-33, 33-38, 3-8, 1-7, 38-42 A), 4-15,
s (42-48), 2-30, 15-20 +




World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

A (38-43), 2-16 (43-48), 31... +

Black: 17, 19, 23, 27,

White: K36, K45 (2)
Concourse “Israel-2012”, C27,
8" place, 48 points

Author’s the solution as is

Konkypc «M3pannb-2012»
VP 47 (32AB), 28, 29 (37), 47 +
A (22),2 (36C), 18,19 +
C (22-28), 18 (36D), 31, 11 (28-32), 16 +
B (24),33 +
D (27-32, 38), 18 (42/43EF), 23, 47/48 +
E (32), 27,16 +
F (33), 24 (39, 44G), 40 +
G (43),38 +

#C-31

WEmCE N
WoE E E E
GB B
i
e EE =

\

E B
S EE
W
B e e s B

Black: 20, 25, 33, 34, 40 (5)
White: K1, K2, K36 (3)

Author’s the solution as is
Unpublished
He ony0inkoBan

VP 30 (34-39A), 48 (45), 9 (24BCD), 40, 19
(39), 5 (44), 20, 50 +

A (33-39), 22 (45), 50 (39, 34), 40 +

B (50), 30, 6 +

C (38), 40, 30 +

D (39), 20, 39 +

#C-32
BN E_E
_ _ _ _ _
7 /% /% /% /% /
_ _ _ _ _
%/%4/>@%/

x\
k\
\\\
\\
\\

////@

Black K 31 2 35 (4)
White: K1, K24, K45 (3)

k\
k\
koS §\
\\\
\\\

N
0.)

Author’s the solution as is
Unpublished

He ony0umkoBan
VP 6 (50A), 24-33 Z1 (28), 33 Z2 (31-37), 33-
50 (41B), 40, 46 +
A (5), 19 (23VP1), 36 (38), 27 (42), 38 +
B (40), 23 (38, 42C), 37 +
C (43),39+
VP1 (28), 33 Z2-1 (31-37), 33-50 (41B1), 40,
46 +
B1 (40), 23 (38, 42C1), 37 +
C1(43),39+

Z112? (40 Y1, 32-37 Y2), 24-33 (28) =

Z2 44 (32-37 Y3 Y4), 45-40 (42 Y5) =

Z2-1 44 (32-37 Y3-1 Y4-1), 45-40 (42 Y5-1) =
7323 (37 Y6, 45) =

Z4 44-50 (42 Y7) =

Z4-1 44-50 (42 Y7-1) =

Y1 (31-37), 38, 12-17 +

Y2 (31-37), 19 (38, 42), 37, 12 Z3 (36), 12-17,
28 +

Y3 (38), 33 Z4, 36 +

Y3-1 (38), 33 Z4-1, 36 +

Y4 (31-37), 45-40 (41), 50, 46 +

Y4-1 (31-37), 45-40 (41), 50, 46 +

Y5 (41), 50, 47 +

Y5-1 (41), 50, 47 +

-53-



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

Y6 (36), 23-28, 28 +
Y7 (36), 40, 47 +
Y7-1 (36), 40, 47 +

Black: 8, 14, 18, 21, 22, 27, 31 (7)
White: K15, K47 (2)
Contest ,,Vilnius - 2017 A16,
4th place, 63,5 points

Author’s the solution as is
Participated concours ‘Vilnius 2017,
category A
VP 153 ZZ1 (26), 20 Z2 (37A), 25 (22BCD), 30
(261B1C1), 19 (32), 36 (38E), 43 (42), 37, 48
Z3
(28F), 26 (33), 21 (39), 49 +
A (32), 25 (22GC2), 39 Z4 Z5 (36), 17 —
J.Haimovitsj Gordin 1927 — (31H), 21 Z6
(327J), 26 +
B (23), 479 +
B1 (28), 473 +
C/C1(32),478 +
C2(317),478 +
D (261), 14 (32), 36 +
E (27), 47 (36), 23/5/14 (361K), 22 +
{(38), 46/41 (42a), 37, 36 + a (43), 39 +}
F (36), 37 +
G (23), 479,36 +
H (41), 36 (38), 27 (42), 38 +
J (317), 43/49 (361LM), 36 (42), 38, 27 (39),
49 +
K (38), 46 (43), 38 +
L (371), 32 (46),5 +
M (42), 15 (41), 32 (47), 38 +
FST:
Z152? (26 Y) =
Z1473? (36Y1), 20/25 (41) =

-54 -

Z2 25? (37Y2) =
Z3 327 (27, 37),38(41),32 (47 Y3) =
Z4 9? (327), 36 (41), 31, 36 (42) =
Z5 437 (317, 31), 41 =
Z6 267 (327), 38 (42Y4) =
Z7 377 (20), 15 (31), 3 (41), 10/14 (47) =
Z8 417 (20), 15 (47) =
JIT:
Y (36?), 26 (28Y5), 46 Z7 Z8 (20), 15 (32), 2
(41), 19 (47), 1924 +
Y1 (267), 25 (37), 47 and further as VP;
Y2 (32?), 15 (36), 14 (31), 26 (41), 37, 4 (23),
15 (37Y6), 10 (41/42Y7), 46/48 +
Y3 (46?), 5+
Y4 (361?), 32, 46 (33), 32 (39),49 +
Y5 (20), 15 (via veld 33), (23/32), 10 +
Y6 (28), 42 (33Y8), 15/29 (37), 47 +
Y7 (29), 41/46 (33), 32 (39), 49 +
Y8 (37), 26/31 (33), 21/27 (39), 49 +

#C-34

5>

Black: 9, 23, 27, 29, 31, 32 (6)
White: K7, K16, K30 (3)

Author’s the solution as is
Unpublished
VP 18, 19 (38ABa), 43 Z (36), 37 (18), 26 Z1
(34CDEF), 3 (41), 37,9 (23), 20 (37G), 14
(41VP1H), 46 +
VP1 (42), 48 +
a (36), 37 (41), 17/26 +
A (327), 26 +
B (317), 28 +
C (14), 16 (34K), 31, 22 +
D (33),16 (23L), 31,4 +
E (41), 37, 4 (33), 27 (39), 49 +
F (22), 16 (27), 3 (41), 37 +



World Championship versus ex-

G (28), 42 (33M), 15/29 (37), 47 +
H (29), 41/46 (33), 32 (39), 49 +
K (41N), 37 +
L (38), 43/49 (41), 37,4 +
M (37), 26/31 (33), 21/27 (39), 49 +
N (20), 31, 15 +
FST:
Z 497 (34YY1) =
Z138? (34Y2) =
JIT:
Y (18?), 8 (36), 26 (34), 16 (40), 31, 35 (23), 24
(28), 38 “Bieliauskas, ‘DP’ December 2009”

(14Y3Y4), 15/24/29/47 (32), 42 (19Y5), 15 (23),

20 (37Y6), 14 (41/42), 46/48 +

Y1 (367?), 37 (18), 26 (34), and further as Y;
Y2 (41?), 3 (37), 9 (23), 20 (37), 14 (41/42Y7),
46/48 +

Y3(32),4 +

Y4 (33),3+

Y5 (20), 15 (37), 47 +

Y6 (28), 42 (33Y8), 15/29 (37), 47 +

Y7 (29), 41/46 (33), 32 (39), 49 +

Y8 (37), 26/31 (33), 21/27 (39), 49 +

#C-35

7 S U O
//7%%//
//g@///

Black: 13, 19, 22, 25 28, 31 (6)
White: K2, K43, K49 (3)

Author’s the solution as is
Unpublished

VP 48 (36), 31, 21 Z (30A), 11 (23BCD), 43

(35),34 (27a), 4 Z1 (272), 39 Z2 (37), 15 (41), 30,

36 +

A (33), 11 (28), 27 (24), 4 Z3 (32E), 44 Z4 (29),

31 (34), 26 (38), 48 (250F), 49 Z5 (43GH), 39 +

B (18), 43 (35), 39 Z6 (193bc), 34 (27), 50 (22K)
17/11/6 Z7 (32), 18 (37), 28 (42), 37, 36 (40), 22

CPI FMID (PWCE-III). Endings/Endgames-100

(45), 50 +

C (34), 1106/2117 (40), 2117/1106, 35 +

D (35), 12 (27), 50 (40), 45 (32), 28 +

E (29), 10 (32), 37 (38), 16 (42), 48 (34), 30 +

F (40), 35 +

G (39), 25 (42), 38 +

H (35), 30 +

K (40), 45 (31), 33 (36), 47 (28), 12/7/1 (33), 15

(41), 23 (47), 239 +

a (40), 27 (45), 50 +

b (183), 34 (40), 27 (45), 50 +

c (24), 34 (27), 15/20 (32), 1/12 (37), 47 +
FST:

Z 167 (30), 027 (33), 1611 (28), 23 (32), 25 (28) =

Z1 31/36? (32), 4/9 (37Y) =

Z2 44? (37Y1),15(41) =

Z39?(32) =

Z4 507 (29), 31 (38) =

Z5 35?7 (43) =

Z6 347 (27), 12/7/1 (31/32), 33 (37), 47 (24), 15

(41Y2), 23 (40Y3) =

Z712/7/1? (31/32), 17 (37), 50 (40Y4) =
JIT:

Y (38?), 27 (42), 38 +

Y1 (38?), 27 (42), 38 +

Y2 (40?), 45 (41), 23 (47), 239 +

Y3 (46? Y5), 5 (40), 33 (45), 50 +

Y4 (41/42?), 40, 46/47 +

Y5 (477?), 239 +

Black: 8, 17,
White: K34, K

21, 25, 31 (5)
41 (2)

Author’s the solution as is
MiF / Mu® 12-06-2014
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World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

VP 36 (37), 47 (27 AB), 12 (31 C), 3 (30 D), 26
- 1000 mini", 862, H, Borgman, Het Damspel,
1980 - (35 E), 36 (40), 45 (41), 37,29 (37), 47 +
A (26), 23 Z (30), 41/46 (34), 29, 2 (31), 19 +

B (12), 1/7 (27), 34 (22 F), 39 (32), 17 (38 G),
15 (41), 28 (47), 283 +

C (22), 3 -"1000 mini™ 549, J.

Bastiaannet "Illawxu™, 1979 - (28 H), 17 (282),
26 (31), 36 (30), 25 (41), 37,20 (37), 47 +

D (21) - "1000 mini" 506, J. SioZinys, u-m

Jlumew 2008 - 26 (30), 12 (36 1), 23 Z2 (361 K),

36 (42), 37, 35 +
E (34), 36 (41), 46 (39), 22/28 (43), 39 +

F (21), 12 (31 L), 26 (30), 12 (35 D1), 23 (40),
45 (36), 23 (361, 42), 37 +

D1 (36), 23 (361 K1, 42), 37, 35 +

K1 (34), 46 Z3 (39), 33 +

G (41), 36 (38), 27 (42), 38 +

H (30), 14 (32), 25 (35), 38 +

I (35), 23 (40), 45 (36), 23 (361, 42), 37 +

K (34), 46 Z3 (39), 33 +

L (26), 7 (261 M), 16 (32 N), 43 (36), 48 (371
0),31+

M (30), 16 (271), 7 (35 P), 23 (40), 45 (36), 23
(361, 42), 37 +

N (42), 21 (37), 26 (41), 37 +

O (361), 36 +

P (36), 23 (361, 42), 37, 35 +

Z 397 (31), 11 (42 Y), 2 (37 Y1) =

Y (367), 28 Z1 (361), 36 (42), 37, 2 +

7127 (12), 19 (42, 30, 41) =

72 267 (361 Y2) =

Z3 40/45? (361 Y3Y4), 36 (42), 29 (48 Y5) =
Y1 (36), 28 +

Y2 (371?), 31, 35 +

Y3 (427), 15 (41), 23 +

Y4 (371?), 23 (46), 5 +

Y5 (477), 15 +

-56 -
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i fﬁ fﬁ

Black: 18, 22, 24, 32, 33 (5)
White: K3, K36 (2)
Author’s the solution as is
MiF/Mu® 10-06-2017
VP 21 Z (338 AB), 26 (30 CD), 37, 35 (28), 2
(32E), 7 (22 F), 11 (27), 16 (31), 38 (37), 47 +
A (27), 30 (37), 32,43 +
B (37), 26 (29), 48 (38), 47 (33), 39, 50 +
C (43),27 (31 G), 38 +
D (27/28), 30 +
E (33),7(22),16 (39 H), 11 +
F (23), 29 (37), 47 +
G (21), 26:8:48 (28), 25 (33 1), 9 (23 K), 14
(29), 20 (34), 38 (40 K1), 33,50 +
H (28), 43 +
1(32),9(23),20 (37 L), 14 +
K (22), 27 (39), 49 +
K1 (39), 49 +
L (28), 42 +
Z26? (328 YY]) =
Y (29?), 27, 39 (23), 25 (33), 14 (29 Y2), 20
(34), 38 (40 Y3), 33 (45), 50 +
Y1 (27/28?), 30 +
Y2 (28), 32 (38), 48 +
Y3 (39), 49 +



World Championship versus ex- CPI FMID (PWCE-III). Endings/Endgames-100

#C-38 Y4 (357), 23 (32), 23-45 (41), 40, 46 +
Y5 (347), 23 (38), 41/46 (42/43), 37/39 +
Y6 (38?), 33 +

Black: 21, 24, 32, 34 (4)
White: K31, K44 (2)
Competition »In memory
1.Vitoshkin* (Memorial L.S.
Vitoshkin), 2013-2014, B13, 4t

place, 69,25 points

Author’s the solution as is

"Memopuan JI. Bumowkuna' (4 mecmo)
VP 26 Z (27 A), 12 (29 BCDE), 7 (38 FG), 16
(32 H), 28, 25 (33), 14 (281), 32 (39), 49 +
A (29), 12 (38), 39, 48 +
B (38), 45 (29), 31 (43), 39 +
C (37),45 (41 C1), 29,47 +
C1(42), 29, 48 +
D (31), 45 (38 D1D2), 33, 36 +
D1 (36), 29, 37/46 +
D2 (317), 45-40/44-50 (41 C1), 29, 46 +
E (30), 45 Z1 (37), 44-50 (32 E1), 40 (41/42 K),
34, 46/48 +
E1 (31), 34, 41/46 +
F (31), 39, 26 (38), 48 +
G (40), 45 (37), 23 (42), 37,28 +
H (31), 25 (37), 20 (34), 47 +
1 (29), 20 (34), 38 (40 M), 33 (45), 50 +
K (34), 23 (38), 41/46 (42 L), 37 +
L (43),39 +
M (39), 49 +

Z 48 (29 YY1), 25 (37), 35 (33 Y2), 24 (26),
21, 20 (41), 14 (47 Y3) =

Y (307), 35 (39), 25 (37), 19/14 (42), 37, 14 +
Y1 (38?), 26 (43), 39 +

Y2 (42?), 24, 48 +

Y3 (46?), 5 +

Z1 407 (37), 50 (32 Y4), 44-45 (35 Y5), 29 (40),
45 (41/42 Y6) =




